VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

SLIDING GATE OPERATOR

MODEL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support




VEVOR

TOUGH TOOLS, HALF PRICE

MODEL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

)

L h“
-
i

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Dear user,

Thank you for choosing this product, please read the manual
carefully before assembling and using it.

Please do not leave out the manual if you send this product to a third

party.

Safety Instruction

1. Please ensure that the using power voltage matches with the
supply voltage of gate opener (AC120V or AC220V); kids are
forbidden to touch the control devices or the remote-control unit.

2. The remote-control unit is controlled by a single button mode.
The indicator light on the remote-control unit will flicker when the
button on it is pressed. Main engine and gate can be unlocked by
disengagement wrench and the gate can move with manual
operation after disengagement.

3. Please ensure that no one is around the main engine or gate
when the switch Is operated and it is usually demanded to examine
the stability of installation. Please temporarily stop using if the main
engine needs repairing or regulation.

4. The installation and maintenance of the products must be
carried out by professionals.



Packing List (standard / detachable mounting base)

1. Packing List

I— No. Picture Name Quantity
1 Main engine 1
2 Manual release key 2

Remote control
3 (without battery) 2
(battery model 27A 12V)
4 Sprocket cover 1
5 [ ] Chain link 2
e
6 09 () 0 )“(‘8'__2 Chain 6m
7 — _J Tie rod 2
8 Square screw 4
9 Round screw 4




No. Name Quantity
10 Door connecting plate 2
1 Horizontal mounting plate 1
12 Vertical mounting plate 2
13 Expansion screws 4
S &
14 @ 2 % Magnetic limit switch block 1
F‘ Inner hexagon screw
15 M6x16 4
Hexagon screw M6x70 4
16
Hexagon screw M8x35 4
- 05 Yo Loie 1000, Nut M6 16
efieltelty NutM8 8
18 sty Flat washer 8 12
19 EDEDEDED Spring washer @6 16




2. Packing List (optional)

No. Picture

Name Quantity

— —
/J 1Y rd: \

1 10)(0)

—————————————————————————

Infrared sensor 1

.\._:"_/'( N, '_/

peiion,.

e
2 Ny
| i ol

Technical Parameters

Wireless keypad 1

| N —
[
[
|

Model SL600ACL
Power supply 220V/50Hz;110V/60Hz
Motor power 370W/550W/750W/1200W

Maximum weight of gate

800kg/1200kg/1800kg/2400kg

Gate moving speed

12m/min

Remote control distance

230m

Remote control mode

Single button mode

Limit switch Magnetic limit switch
Noise <58dB

Working duty S2,15min

Recording of up remote controls 25

Frequency 433.92 MHz
Working temperature -20°C-+70C
Package weight 20.5Kg

Working Principle:

It consists of motor, worm gear, and driven gear. The motor drives worm gear and
driven gear. The driven gear in turn drives the rack. The motor transfers its motion
energy to the socket through worm and driven gear. Both the gears will rotate
simultaneously when clutch is engaged, so that the door can open and close with

-5-



simple electrical controls. In case if the power fails, disengage the clutch through
disengage key (by turning it at about 90°).

Instruction

Please read the instruction carefully before use

SL600ACL sliding gate opener is applicable to gate weight less than 600kg, and
length of the sliding gate should be less than 8m. The drive mode adopts the
sprocket and chain transmission. This gate opener must be installed inside the
enclosure or yard for protection.

1. Installation drawing

@ Gate opener

@ Wireless keypad (optional)
® Gate

@ infrared sensor (optional)
® Alarm lamp (optional)

® Safety stop block

@ Chain

Remote control

Figure 1

2. Size of main engine

G B
| @ )
\

i
b




Detachable mounting base One-piece mounting base

Figure 2
3. Size of embedded hole
%5 Y -
| |
|
( )
- H\ e} @ D : Y7o o o 0 8
| | | |
=| 11 a 3] 3
= | | O O
{ !G _ ra ) C) o O & o
[ o o ||~ '
Detachable mounting base One-piece mounting base
Figure 3

4. Installation procedures

4.1. Preparation work before installation

Please ensure that the sliding gate is correctly installed, the gate rail is horizontal,
and the gate can glide back and forth smoothly when moved by hands before
installing the gate opener.

Cable installation

Please bury the motor & power cable and controlling cable with PVC tube, and use
two PVC tubes to bury (motor & power cable) and (controlling cable) separately, so
as to guarantee normal operation of the gate opener and protect the cables from
damages.

Concrete pedestal
Please cast a concrete pedestal with the size of 500mm x 350mm and depth of
200mm in advance.so as to firmly install SL600ACL gate opener. Please verify

-7-



whether the distance between the gate and gate opener is suitable before casting
the pedestal.

Embedded screws

Mounting base

V4 Foundation bolt
g/" , Mounting base

—

Concrete [

i

Power line

Figure 4

4.2, Main engine installation

a) Dismantle the plastic housing on the main engine before installation and keep
relevant fasteners properly;

b) If select the detachable mounting base, the base should be assembled first as
shown in Figure 5:



Flal washer¢ 6
" Spring washer 6
,f’ Nul M6
Al Horlzontal ‘mounting plate

Vertical mounting platen

| Inner hexagon screw Mx20

Figure 5

c) Assemble the machine engine to the mounting base as shown in Figure 6;

Nut M8

/ Spring washer $8
F

lat washer ¢8
Hexagon screw M8 x 35

Mounting base

Figure 6
d) Please prepare the power line for connecting mounting plate and main engine
(the number of power supply cable core shall not be less than 3 PCS, the sectional
area of cable core shall not be lower than 1.5mm’ and the length shall be
determined by users according to the field situation) due to different installation
environments,



e) Please unlock the main engine before installation, the unlock method is: take
out the key cover, insert the key, and open the manual release bar till it rotates by
90" as shown in Figure 7. Then turn the output sprocket and the sprocket can be
rotated easily;

Figure 7
4.3. Chain installation

Close the gate; connect the tie rod with chain through chain link; fasten the tie rod
to the door connecting plate by washers and nuts as shown in Figure 8. If
necessary, the elasticity of chain can be adjusted through the tie rod at both ends
as shown in Figure 9 and 10. If necessary, the chain can be shortened. If it needs
to be lengthened, make sure to use same type of chain.

Figure 8

-10 -



If door frame is round, please use the round screw as shown in Figure 9:

Flat washer ¢ 8
Spring washer ¢ 8,
ot S0 Tie rod
Spring washer 66
Flat washer $6 "\

Gale_~ " ">._Round screw

Figure 9
If door frame is square, please use the square screw as shown in Figure 10
Flat washer ¢ 8
Spring washer ¢ B‘\\
Nut M6 \\\ 2
Spring washer ¢6 .

L)

Flat washer ¢ 6 "\

s Square screw

Figure 10

Installation of chain, small and big sprocket as shown in Figure 11:

-1 -



Figure 11

Installation of sprocket cover as shown in Figure 12:

Figure 12

The distance between main engine and chain ends should be at least 30cm, as
shown in Figure 13:

-12 -



=30CM |

IOCIC : ooo,@:i DCOCIOIOE

Figure 13

A Warnings

To ensure safety, install safety stop blocks on both ends of the rails to prevent
the gate out of the rail. Before installing the main engine, make sure that the
safety stop blocks are in place and whether it has the function of preventing
the gate from moving out of the rail and out of the safety range.

® Please ensure that the main engine and its components have good
mechanical properties, and the gate can operate flexibly when moved by
hands before installing the main engine.

® In this product, one control can drive one main engine only, otherwise, the
control system will be damaged.

® Earth leakage circuit breaker must be installed where the gate movement can
be seen, and the minimum mounting height is 1.5m to protect it from being
touched.

® After installation, please check whether the mechanical property is good or
not, whether gate movement after manual unlocking is flexible or not, and

whether the infrared sensor (optional) is installed correctly and effectively.

4.4. Limit switch adjustment

Use the manual. release key to unlock gate opener and manually move the gate to

-13-



the predetermined position; fix the magnetic limit switch block and close the clutch;
testing run after power on, slightly adjust the position of the magnetic limit switch
block until the gate reaches the desired open and close limit location.

Installation of magnetic limit switch bock:

Figure 14

-14 -



f

< 20mm

Main engine
— |

Magnet

Magnetic limit switch block ™

Chain

Chain wheel

—
Gate

[/ /] ]

Nut M8
_ Spring washer ¢8

Flat washer $8

I = %%
R e S S S S—

Figure 15

Electrical connection

1.The connection shall be made in strict accordance with the label on the terminal,
and "fire" and "zero" shall not be reversed.

2.0bserve safety regulations and separate power lines and control lines.

3.Motor enclosure must be grounded.

4.According to the wiring diagram below, it is important to separate the power line
from the control line, especially not to connect the "switch in place" control line to
the motor line and power line, otherwise the controller will be damaged.
5.Schematic diagram of the composition of the control board and remote control

-15-



Resistance to adjust<
1. ON: open the soft start/«

1.0FF Off Soft start¢

Learn key:<' Auto closing 2and3«

Egl{:az%xearn A:20FF/30FF—08..B:20N.30FF—58
remote C:20FF30N—10S. D:20N.30N/--20S5<
controls: 4 OFF/Resistance. ON/Resistance-

o

(FATITERRT 1N
» T
e

Single limit and
double«

1.2. OutputDC15V «
direct 30ma«

2. 3. infrared. Prevent
the door from hitting
the object«

2.5. open stop In-put AC220V/50HZ<
close cycle< -

2.4, only open the door<

open stop close cycle open stop close cycle

Notused Stop
Parameoters: Remate control battery model
Frequency:433.92ZMHZ 2TA 12V
Chip: HC8301 (rolling code) l¢——Length 2BMM 5
Materials::ABS+aluminium alloy ? |
Diameter: 7.6mm
Size:5.573.05"1.38cm

Pairing instructions:
1. Learning remote control: hold down the learning button until the learning
indicator light LED is on, press any key of the remote control for 1 second, then the

-16 -



coding is finished, and the learning indicator is flashing.
2. Delete password: press and hold the learning button for 12 seconds to

automatically remove all alignment codes and the original remote control is invalid.

3.The remote control adopts advanced vehicle rolling code technology, and the
common remote-control code on the outside is not easy to be repeated, effectively
preventing the door opening by mistake. The remote control has intelligent
program design. Press the remote control for 4 seconds to automatically stop the
launch, so as to prevent it from interfering with other remote control. And save
remote battery power. Convenient for transportation and storage.

4. You can learn more than 40 remote controls.

Use a function:
1.The controller has the automatic memory function of power off. It is possible that

the debugging test has been carried out by the manufacturer, Limit detection, so

the door must be pushed to the middle during installation.

2. Because the controller is turned on after the power is off. First of all, execute the
turn on. This is normal phenomenon.

3. Single key loop: single key loop interface 1.3.

4. The potentiometer has automatic door closing. Turn counterclockwise to
minimum close automatic door closing. The LED flicker once represents 1 second.
5. Equipped with infrared interface. And automatic resistance return.

6. Open the door automatically when the interface is switched on.

Maintenance

1.Coat the clutch keyhole with small amounts of antirust oil to prevent rust.
2.Regularly check the condition of electrical grounding.

3.Perform regular checks to ensure the parts are in good condition.

4.Motor requires advanced lubricating grease for smooth movement. Please do
not apply regular lubricating oils.

5.The controller places the child out of reach. Always check whether the
wire is broken, loose and wet. If you find it, please cut off the high-voltage

-17 -



power immediately and

s o, : i
Gt t 5
ot =

Troubleshooting method

use it after repairing and replacing.

fault phenomenon

Analysis of the fault

To deal with failure

A. The power
indicator is off

There is no 110V power input

Check power line

The fuse is broken. The
connector is not in place

1.1. Check the output
line for short circuit.
2. Replace the same
specification after
troubleshooting

B. Power indicator
light is on, press open

The clutch is not closed

Re-close the clutch

-18 -




and close key, door
body cannot.be
switched open and off

Circuit board damage due to
short circuit or severe
overload of external devices.

Back for repair

C. Press the "open"
button and "close"
button, and the door
body will stop
automatically or stop
when the limit is
reached

1.Limit sensor cable short
circuit or break.
2.sensor away from magnet.

1. Check the circuit and
troubleshoot. Bring the
sensor to the point
magnet.

Limit the damage

Replace sensor

D. Press the "open"
button to turn green,
but press the "close"
button to stop and
back

Short circuit of infrared probe
line

Check the circuit and
troubleshoot the probe
line

Infrared probe damaged

Replace the infrared
probe

E. The remote control
becomes shorter

1.Battery is low

1.Replace the
remote-control battery
23A or 27A 12v.

-19 -




Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

EC |(REP E-CrossStu GmbH

Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
U K RE P C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-20 -






VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwaranc;ji

elektronicznej www.vevor.com/support

OPERATOR BRAMY PRZESUWNE]J

MODEL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

Nadal staramy sie oferowac Panstwu narzedzia w konkurencyjnych cenach.
,Oszczedz potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez nas stanowig
jedynie szacunkowe oszczednosci, jakie mozesz uzyska¢, kupujac u nas okreélone narzedzia w
poréwnaniu z gtébwnymi markami i niekoniecznie oznaczajg one objecie wszystkich kategorii narzedzi
oferowanych przez nas. Uprzejmie przypominamy, aby doktadnie sprawdzi¢, czy sktadajac u nas
zamoéwienie faktycznie oszczedzasz potowe w poréwnaniu z gtéwnymi markami.


https://www.vevor.com/support

Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

MODEL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

POTRZEBUJESZ POMOCY? SKONTAKTU]J SIE Z NAMI!

Masz pytania dotyczace produktu? Potrzebujesz wsparcia technicznego? Skontaktuj sie z
nami: Wsparcie

techniczne i certyfikat E-Gwarancji www.vevor.com/support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczyta¢ wszystkie
instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukcji obstugi. Wyglad produktu
bedzie zalezat od produktu, ktory otrzymates. Prosimy o wybaczenie, ze nie poinformujemy

Cie ponownie, jesli w naszym produkcie pojawig sie jakiekolwiek aktualizacje technologiczne lub
oprogramowania.



Machine Translated by Google

Szanowny

uzytkowniku, Dziekujemy za wybranie tego produktu, prosimy o zapoznanie sie z instrukcja
Przed montazem i uzyciem nalezy doktadnie sprawdzic.

Prosimy nie pomija¢ instrukgcji, jesli wysytasz ten produkt osobie trzeciej.

impreza.

Instrukcja bezpieczenstwa

1. Upewnij sie, ze napiecie zasilania jest zgodne z napieciem
napiecie zasilania napedu bramy (AC120V lub AC220V); dzieci sg
Zabrania sie dotykania urzgdzen sterujgcych i pilota zdalnego sterowania.

2. Sterowanie pilotem odbywa sie za pomocg jednego przycisku.

Kontrolka na pilocie zdalnego sterowania bedzie miga¢, gdy

przycisk na nim jest wcisniety. Gtéwny silnik i brama moga by¢ odblokowane przez
klucz roztgczajgcy i brama moze poruszac sie recznie

dziatanie po roztgczeniu.

3. Upewnij sie, ze nikt nie przebywa w poblizu gtéwnego silnika lub bramy
gdy przetacznik jest wtgczony i zwykle wymagane jest sprawdzenie
stabilnos¢ instalacji. Prosze tymczasowo zaprzesta¢ uzywania, jesli gléwny

silnik wymaga naprawy lub regulacji.

4. Instalacja i konserwacja produktéw musi by¢

przeprowadzane przez profesjonalistéw.



Machine Translated by Google

Lista rzeczy do spakowania (standardowa/odtgczana podstawa montazowa)

1. Lista rzeczy do spakowania

No. Picture Name Quantity
1 _ Main engine 1
A
2 Manual release key 2
Remote control
3 (without battery) 2
(battery model 27A 12V)
4 Sprocket cover 1
5 Chain link 2
6 Chain 6m
7 = Tie rod 2
8 Square screw 4
9 |\\ Round screw 4




Machine Translated by Google

No. Name Quantity
10 Door connecting plate 2
11 Horizontal mounting plate 1
12 Vertical mounting plate 2
13 Expansion screws 4

14 g Magnetic limit switch block 1

f~ Inner hexagon screw
15 M6x16 4

Hexagon screw M6x70 4
16
Hexagon screw M8x35 4

- @@@@ Nut M6 16
@@@@ Nut M8 8

18 gggg Flat washer @8 ' 12
19 EO@EOEDED Spring washer 96 } 16




Machine Translated by Google

2. Lista rzeczy do spakowania (opcjonalnie)

Name

Infrared sensor

‘ No. Picture
HV’TJ‘\ ,:_w

{2}

1 (Ol U)

\_* 4 \\‘(//
l - 7 -A \~
. E2 A
2 shn/,

Parametry techniczne

Wireless keypad

S — ——

Quantity

Model SL600ACL
Zasilacz 220 V/50 Hz; 110 V/60 Hz
Moc silnika 370 W/550 W/750 W/1200 W

Maksymalna waga bramy

800 kg/1200 kg/1800 kg/2400 kg

Predkos¢ przesuwania bramy

12 minut/minute

Odlegtos¢ zdalnego sterowania

30m

Tryb zdalnego sterowania

Tryb pojedynczego przycisku

Wytacznik kraricowy

Wytgcznik kraricowy magnetyczny

Hatas 58dB
Obowigzek roboczy $2,15min
Nagrywanie pilotéw 25
Czestotliwos¢ 433,92MHz
Temperatura pracy -20°C-+70C
Waga paczki 20,5 kg

Zasada dziatania:

Sktada sie z silnika, przektadni slimakowej i przektadni napedzanej. Silnik napedza przektadnie slimakowg i

koto zebate napedzane. Koto zebate napedza z kolei zebatke. Silnik przenosi swoj ruch

energia do gniazda poprzez slimak i przektadnie napedowa. Oba kota zgbate bedg sie obraca¢

jednoczesnie, gdy sprzegto jest wigczone, dzieki czemu drzwi mogg sie otwierac i zamykac

-5-




Machine Translated by Google

proste sterowanie elektryczne. W przypadku zaniku zasilania, roztgcz sprzegto za pomocg kluczyka

roztgczajgcego (przekrecajac go o okoto 90°).
Instrukcja

Przed uzyciem nalezy uwaznie przeczytac instrukcje. Otwieracz bramy

przesuwnej SL600ACL jest odpowiedni do bram o wadze mniejszej niz 600 kg, a dlugos$¢ bramy przesuwnej
powinna by¢ mniejsza niz 8 m. Tryb napedu wykorzystuje przektadnie zebatg i tancuchowa. Ten

otwieracz bramy musi by¢ zainstalowany wewngatrz ogrodzenia lub podwérka w celu zapewnienia

ochrony.

1. Rysunek instalacyjny

Otwieracz bramy
Klawiatura bezprzewodowa (opcjonalnie)
Brama
Czujnik podczerwieni (opcjonalnie)
Lampa alarmowa (opcjonalnie)
Blokada bezpieczenstwa
tancuch

Pilot zdalnego sterowania

Rysunek 1

2Wielkos¢ gtéwnego silnika

ﬁ i | o= [

jh




Machine Translated by Google

Odtgczana podstawa montazowa Jednoczesciowa podstawa montazowa

Rysunek 2

3Rozmiar osadzonego otworu

%5

{
H |
Al ° ° I T T9Te q
e ] ®
Y T °
= 15 1| O
| | ] O W
N . N ) - Q o
15 ST 10—
Odtgczana podstawa montazowa Jednoczesciowa podstawa montazowa
Rysunek 3

4. Procedury instalacyjne

4.1. Prace przygotowawcze przed instalacjg

Przed montazem upewnij sie, ze brama przesuwna jest prawidtowo zamontowana, szyna bramy jest
pozioma, a brama moze sie ptynnie przesuwac tam i z powrotem, gdy jest poruszana recznie.

montaz otwieracza bramy.

Instalacja kablowa
Prosze zakopac silnik, kabel zasilajgcy i kabel sterujgcy w rurze PCV i uzy¢
dwie rurki PCV do zakopania osobno (kabel silnika i zasilania) i (kabel sterujacy), wiec

aby zapewni¢ prawidtowe dziatanie napedu bramy i chroni¢ kable przed

odszkodowanie.

Postument betonowy
Prosze o wykonanie cokotu betonowego o wymiarach 500mm x 350mm i gtebokosci

200mm z géry, aby solidnie zainstalowac otwieracz bramy SL600ACL. Prosze sprawdzic¢

-7-



Machine Translated by Google

czy odlegto$¢ miedzy brama a otwieraczem bramy jest odpowiednia przed odlaniem cokotu.

Sruby osadzone

Mounting base

ﬁ ﬁ ¥ g Foundation bolt
Concrete I E z

g/ 7 Mounting base

Power line

Rysunek 4

4.2Instalacja gtéwnego silnika

a) Przed montazem zdemontuj plastikowg obudowe silnika gtéwnego i zachowaj odpowiednie
elementy mocujace; b) Jesli
wybierzesz odtgczang podstawe montazowa, najpierw nalezy zmontowa¢ podstawe, jak

pokazano na rysunku 5:



Machine Translated by Google

Flat washer ¢ 6
, Spring washer®6
- Nut M6
e| .~~~ Horizontal mounting plate
¥ a Vertical mounting platen
‘| Inner hexagon screw M6x20

Rysunek 5

¢) Zamontuj silnik maszyny na podstawie montazowej, jak pokazano na rysunku 6;

Nut M8
Spring washer 8

&/ Flat washer ¢8
Hexagon screw M8 x 35

Mounting base

Rysunek 6
d) Przygotuj linie zasilajaca do podtgczenia ptyty montazowej i silnika gtéwnego (liczba rdzeni
kabla zasilajgcego nie moze by¢ mniejsza niz 3, przekrdj rdzenia kabla nie moze by¢ mniejszy
niz 1,5 mm2, a dtugos¢ musi by¢ okreslona przez uzytkownikéw w zaleznosci od
sytuacji w terenie) ze wzgledu na rézng instalacje.

Srodowiska,



Machine Translated by Google

e) Przed montazem nalezy odblokowac¢ silnik gtéwny. Sposéb odblokowania jest nastepujgcy: wyjmij
pokrywe kluczyka, wtéz kluczyk i otwdrz dZzwignie recznego zwalniania, az obrdci sie 0 90", jak pokazano

na rysunku 7. Nastepnie obré¢ zebatke wyjsciowg, a zebatka bedzie mogta sie tatwo obracag;

Rysunek 7

4.3Instalacja taricucha

Zamknij brame; potacz drazek Sciggajacy z fancuchem za pomocga ogniwa fafncucha; przymocuj drazek
Sciggajacy do ptyty taczacej drzwi za pomocg podktadek i nakretek, jak pokazano na rysunku

8. W razie potrzeby elastyczno$¢ tannicucha mozna wyregulowaé za pomocg drazka Sciggajgcego na obu
koncach, jak pokazano na rysunku 9 i 10. W razie potrzeby tanicuch mozna skrécic. Jesli trzeba go

wydtuzy¢, nalezy uzy¢ tego samego typu tancucha.

~~._ Tierod
i, IR s

=) ™ X
’Z’\(S'.’)ﬂ o~ \ . \ . N
074 24 \Chain "\ Chain link
Rysunek 8

-10 -



Machine Translated by Google

Jezeli oscieznica jest okragta, nalezy zastosowac okragta srube, tak jak pokazano na rysunku 9:

Flat washer ¢ 8
Spnng washer¢>8\
| NutMB‘ N

ety Tie rod
Nut M6 \1\5\ o

Spring washer ¢ 6 .
Flat washer ¢6 -

Rysunek 9

Jezeli odcieznica jest kwadratowa, nalezy uzy¢ Sruby kwadratowej, jak pokazano na rysunku 10.

Flat washer¢ 8

Spring washer ¢ 8* \
Nut Ma\ \ Tie rod
Nut M6 N\ o
Spring washer¢ 6\

Flat washer 6 \‘

Gate .~ “~._Square screw

Rysunek 10

Montaz tancucha, matej i duzej zebatki pokazano na rysunku 11:

-11 -



Machine Translated by Google

Rysunek 11

Montaz ostony kota zebatego pokazano na rysunku 12:

Rysunek 12

Odlegtos¢ miedzy silnikiem gtéwnym a koricami taricucha powinna wynosi¢ co najmniej 30 cm, jak

pokazano na rysunku 13:

-12 -



Machine Translated by Google

=30CM

oG = ORI O lo-ojlc-oi{c—c]
' /]
i L //

Rysunek 13

A Ostrzezenia

Aby zapewnic¢ bezpieczenstwo, zamontuj blokady zabezpieczajgce na obu koncach szyn, aby zapobiec
brama z szyny. Przed zainstalowaniem gtéwnego silnika upewnij sig, ze
czy blokady bezpieczeristwa sg na miejscu i czy maja funkcje zapobiegania
bramka nie moze wysunac sie poza szyne i poza obszar bezpieczenstwa.

Upewnij sie, ze silnik gléwny i jego podzespoty s3 w dobrym stanie
wiasciwosci mechaniczne, a brama moze dziata¢ elastycznie podczas ruchu
rece przed zainstalowaniem silnika gtéwnego.

W tym produkcie jeden sterownik moze obstugiwac tylko jeden silnik gtéwny, w przeciwnym razie
ukfad sterowania ulegnie uszkodzeniu.

Wytacznik réznicowoprgdowy musi zosta¢ zainstalowany w miejscu, w ktérym ruch bramy bedzie mozliwy.

by¢ widoczny, a minimalna wysoko$¢ montazu wynosi 1,5 m, aby chroni¢ go przed
wzruszony.

Po instalacji nalezy sprawdzi¢, czy wtasciwosci mechaniczne sg dobre lub
nie, czy ruch bramy po recznym odblokowaniu jest elastyczny, czy nie, i

czy czujnik podczerwieni (opcjonalny) jest zainstalowany prawidtowo i skutecznie.

4.4Regulacja wytgcznika krancowego

Uzyj klucza recznego, aby odblokowa¢ otwieracz bramy i recznie przesur brame do pozycji otwartej.

-13-



Machine Translated by Google

ustalona pozycja; zamocuj magnetyczny wytgcznik krancowy i zamknij sprzegto; po wigczeniu
zasilania wykonaj prébe i delikatnie dostosuj potozenie magnetycznego wytacznika kraricowego,

az brama osiggnie zgdane potozenie krancowe otwarcia i zamknigcia.

Montaz magnetycznego wytgcznika krancowego:

—_— e ——— - //I/ —
//
Gate / / |
| //
\ | : |/ /’ |
| n
Magnet 1 : Jl ( l

< A \\\+\\ J\ ‘ l \ | | ;
Magnetic limit switch block! T~ | . | |
e e e T — ) |
1 |

Chain

Rysunek 14

-14 -



Machine Translated by Google

[

< 20mm

ey

Main engine
ﬁ

Magnet

Magnetic limit switch block

Chain
Chain wheel
Gate

arya.

Nut M8
Spring washer ¢8
Flat washer $8

B e e S — — " —

Rysunek 15

Podtaczenie elektryczne

1.Podiaczenie nalezy wykonac scisle wedtug oznaczenia na zacisku,

i ,ogien" i,zero” nie mogg by¢ odwrécone.

2. Przestrzegaj przepiséw bezpieczenstwa i oddziel przewody zasilajgce od przewoddw sterujgcych.

3. Obudowa silnika musi by¢ uziemiona.

4. Zgodnie z ponizszym schematem okablowania wazne jest oddzielenie linii zasilajgcej

z przewodu sterujacego, a w szczegélnosci nie podigczac przewodu sterujgcego ,przetgcznik na miejscu” do
przewdd silnika i przewdéd zasilajacy, w przeciwnym razie sterownik ulegnie uszkodzeniu.

5. Schematyczny rysunek sktadu ptyty sterujgcej i pilota

-15 -



Machine Translated by Google

Resistance to adjust«

1. ON: open the soft start/<
1.0FF Off Soft start«

Learn ke Auto closing 2and3«

Ygt{ cazn‘{earn A:20FF/30FF—0S..B:20N.30FF—5S8
remote C:20FF30N—10S. D:20N.30N/--20S+«
controls. 4 OFF/Resistance. ON/Resistance-

Single limit and
double«

1:2. OutputDC15V « AN AN O
direct 30ma«’ 29 y &

o N\

(J

2. 3. infrared. Prevent
the door from hitting
the object«

2.5. open stop In—put AC220V/50HZ<
close cycle« ‘

2.4. only open the door<

open stop close cycle open stop close cycle

Notused Stop
Parameters: Remote control battery model
Frequency:433.92MHZ 2TA 12V
Chip: HCS301 (rolling code) le——Length 28MM .

Materials::ABS+aluminium alloy f ‘

Diameter:7.6mm

Size:5.5"3.05"1.38cm

Instrukcje parowania:
1. Nauka pilota: przytrzymaj przycisk nauki, az do momentu rozpoczecia nauki.

jesli kontrolka LED jest wigczona, nacisnij dowolny przycisk pilota przez 1 sekunde, a nastepnie

-16 -



Machine Translated by Google

kodowanie jest zakonczone, a wskaznik nauki miga.

2. Usun hasto: naciénij i przytrzymaj przycisk nauki przez 12 sekund, aby
automatycznie usuwa wszystkie kody ustawien, a oryginalny pilot staje sie niewazny.

3. Pilot zdalnego sterowania wykorzystuje zaawansowang technologie kodu zmiennego pojazdu i
wspélny kod zdalnego sterowania na zewnatrz nie jest fatwy do powtdrzenia, skutecznie
zapobiegajac przypadkowemu otwarciu drzwi. Pilot ma inteligentny

projektowanie programu. Naci$nij pilota na 4 sekundy, aby automatycznie zatrzymac

uruchomi¢, aby zapobiec zakt6caniu dziatania innych pilotéw. I zapisa¢

zdalne zasilanie bateryjne. Wygodne w transporcie i przechowywaniu.

4. Mozesz nauczy¢ sie obstugi ponad 40 pilotow.

Uzyj funkgiji:

1. Kontroler ma funkcje automatycznego zapamietywania wytgczenia zasilania. Mozliwe jest, ze

test debugowania zostat przeprowadzony przez producenta, wykrywanie limitéw, wiec

Podczas montazu drzwi muszg by¢ przesuniete do $rodka.

2. Poniewaz kontroler jest wigczany po wylaczeniu zasilania. Przede wszystkim wykonaj

wigczy¢. To normalne zjawisko.

3. Pojedyncza petla klawiszy: interfejs pojedynczej petli klawiszy 1.3.

4. Potencjometr ma automatyczne zamykanie drzwi. Obré¢ przeciwnie do ruchu wskazéwek zegara, aby
minimalne zamkniecie drzwi automatycznych. Migotanie diody LED raz oznacza 1 sekunde.

5. Wyposazony w interfejs podczerwieni. I automatyczny powrét oporu.

6. Automatyczne otwieranie drzwi po wigczeniu interfejsu.

Konserwacja

1. Posmaruj otwér sprzegta niewielkg iloscig oleju antykorozyjnego, aby zapobiec rdzewieniu.
2. Regularnie sprawdzaj stan uziemienia elektrycznego.

3. Przeprowadzaj regularne kontrole, aby mie¢ pewnos¢, ze czesci sg w dobrym stanie.

4. Silnik wymaga zaawansowanego smaru smarujacego dla ptynnego ruchu. Prosze to zrobi¢
nie stosowac zwyktych olejéw smarowych.

5. Kontroler umieszcza dziecko poza zasiegiem. Zawsze sprawdzaj, czy

przewdd jest uszkodzony, luzny i mokry. Jesli go znajdziesz, odtacz przewdd wysokiego napigcia

-17 -



Machine Translated by Google

natychmiast odtgcz zasilanie i uzyj go po naprawie lub wymianie.

v P = ‘_“,.,‘.—
:;? '.i; S B '&F’i:

| SHCAL

L

Metoda rozwigzywania problemadw

zjawisko usterki Analiza usterk

Radzenie sobie z porazka

Brak zasilania 110 V. Sprawd? linie zasilan

A. Moc

wskaznik jest wytgczony

Bezpiecznik jest zepsuty.

zkacze nie jest na swoim miejscu

1.1. Sprawdz wynik

linia do zwarcia.

2. Po rozwigzaniu problemu
zastap te samg

specyfikacje

B. Wskaznik zasilania

Swiatto jest wkgczone, naciénij przycisk otwérz

Sprzegto nie jest zamkniete

Zamknij ponownie sprzegto

-18 -




Machine Translated by Google

i zamknij klucz, drzwi
ciato nie moze by¢

przetaczane otwarte i wytgczone

Uszkodzenie ptytki drukowanej spowodowane

zwarcie lub powazne

przecigzenie urzadzen zewnetrznych.

Powrét do naprawy

C. Naciénij ,otworz"

przycisk i ,zamknij”
przycisk i drzwi
ciato sie zatrzyma

automatycznie lub zatrzymaj

1. Zwarcie przewodu czujnika kraricowego

obwdd lub przerwa.

2. czujnik oddalony od magnesu.

1. Sprawdz obwéd i
rozwigzywac problemy. Przynie$
czujnik do punktu

magnes.

kiedy limit jest

osiggniety

Ogranicz szkody

Wymien czujnik

D. Nacisnij przycisk
,0tworz", aby zmieni¢ kolor

na zielony, ale naci$nij

Zwarcie sondy podczerwieni

linia

Sprawdz obwod i

rozwigzywanie probleméw z sondg

linia

przycisk ,zamknij”, aby zatrzymag¢

z powrotem

Sonda podczerwieni uszkodzona

Wymien podczerwien

sonda

E. Pilot zdalnego sterowania

staje sie krétszy

1. Bateria jest staba

1. Wymien
bateria do pilota

23Alub 27A 12V.

-19-




Machine Translated by Google
Adres: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, Szanghaj
200000 CN.

Importowane do AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

E-CrossStu GmbH

Przedstaw|ciel UE

Mainzer Landstr.69, 60329 Frankfurt nad Menem.

YH CONSULTING LIMITED.

REP WIELKIE] BRYTANII [ C/O YH Consulting Limited Biuro 147, Centurion House,

London Road, Staines-upon-Thames, Surrey, TW18 4AX

-20-



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia

elettronica www.vevor.com/support

OPERATORE PER CANCELLO SCORREVOLE

MODELLO: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.

"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta
solo una stima del risparmio che potresti ottenere acquistando determinati utensili con noi rispetto ai
principali marchi principali e non significa necessariamente coprire tutte le categorie di utensili da noi

offerti. Ti ricordiamo gentilmente di verificare attentamente quando effettui un ordine con noi se

stai effettivamente risparmiando la meta rispetto ai principali marchi principali.


https://www.vevor.com/support

Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

MODELLO: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

-1.,"'}5\
LNy
. ,"‘4

Ty

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sul prodotto? Hai bisogno di supporto tecnico? Non esitare a contattarci:
Supporto

tecnico e certificato di garanzia elettronica www.vevor.com/
support

Questa é l'istruzione originale, si prega di leggere attentamente tutte le istruzioni del
manuale prima di utilizzare. VEVOR si riserva una chiara interpretazione del nostro manuale
utente. L'aspetto del prodotto sara soggetto al prodotto ricevuto. Vi preghiamo di

perdonarci se non vi informeremo di nuovo se ci sono aggiornamenti tecnologici o software sul
nostro prodotto.



Machine Translated by Google

Gentile

utente, grazie per aver scelto questo prodotto, ti preghiamo di leggere il manuale
attentamente prima di montarlo e utilizzarlo.

Si prega di non omettere il manuale se si invia questo prodotto a terzi

festa.

Istruzioni di sicurezza

1. Assicurarsi che la tensione di alimentazione utilizzata corrisponda a quella

tensione di alimentazione dell'apricancello (AC120V o AC220V); i bambini sono
vietato toccare i dispositivi di comando o il telecomando.

2. Il telecomando €& controllato tramite una modalita a pulsante singolo.

La spia luminosa sul telecomando lampeggera quando il

il pulsante su di esso € premuto. Il motore principale e il cancello possono essere sbloccati da
chiave di disinnesto e il cancello puo muoversi manualmente

operazione dopo il disimpegno.

3. Assicurarsi che non ci sia nessuno nei pressi del motore principale o del cancello
quando l'interruttore € azionato e di solito € richiesto di esaminare
la stabilita dell'installazione. Si prega di interrompere temporaneamente |'utilizzo se il principale

il motore necessita di riparazione o regolazione.

4. L'installazione e la manutenzione dei prodotti devono essere

eseguiti da professionisti.



Machine Translated by Google

Elenco di imballaggio (base di montaggio standard/rimovibile)

1yElenco di imballaggio

No. Picture Name Quantity
1 _ Main engine 1
A
2 Manual release key l 2
|
Remote control !
3 (without battery) 2
(battery model 27A 12V)
4 Sprocket cover 1
5 Chain link 2
6 Chain 6m
7 = ] Tie rod 2
8 Square screw 4
9 |\\ Round screw 4




Machine Translated by Google

No. Name Quantity
10 Door connecting plate 2
11 Horizontal mounting plate 1
12 Vertical mounting plate 2
13 Expansion screws 4

14 g Magnetic limit switch block 1

f~ Inner hexagon screw
15 M6x16 4

Hexagon screw M6x70 4
16
Hexagon screw M8x35 4

- @@@@ Nut M6 16
@@@@ Nut M8 8

18 gggg Flat washer @8 ' 12
19 EO@EOEDED Spring washer 96 } 16




Machine Translated by Google

2yLista di imballaggio (facoltativo)

Parametri tecnici

Picture

Name

Infrared sensor

Wireless keypad

Quantity

Modello

Modello SL600ACL

Alimentazione elettrica

220V/50Hz;110V/60Hz

Potenza del motore

370W/550W/750W/1200W

Peso massimo del cancello

800kg/1200kg/1800kg/2400kg

Velocita di movimento del cancello

12m/min

Distanza del telecomando

30 metri

Modalita di controllo remoto

Modalita pulsante singolo

Finecorsa Finecorsa magnetico
Rumore y58 dB

Dovere lavorativo S2,15min
Registrazione dei telecomandi in alto 25

Frequenza 433,92 MHz
Temperatura di lavoro -20°C-+70°C

Peso del pacco 20,5 kg

Principio di funzionamento:

E costituito da motore, ingranaggio a vite senza fine e ingranaggio condotto. Il motore aziona l'ingranaggio a vite senza fine e

ingranaggio condotto. L'ingranaggio condotto a sua volta aziona la cremagliera. Il motore trasferisce il suo moto

energia alla presa attraverso vite senza fine e ingranaggio condotto. Entrambi gli ingranaggi ruoteranno

contemporaneamente quando la frizione & inserita, in modo che la porta possa aprirsi e chiudersi con




Machine Translated by Google

semplici comandi elettrici. In caso di mancanza di corrente, disinnestare la frizione tramite la

chiave di disinnesto (ruotandola di circa 90°).

Istruzione

Si prega di leggere attentamente le istruzioni prima

dell'uso. L'apricancello scorrevole SL600ACL e applicabile a cancelli con peso inferiore a 600
kg e la lunghezza del cancello scorrevole deve essere inferiore a 8 m. La modalita di
azionamento adotta la trasmissione a pignone e catena. Questo apricancello deve essere

installato all'interno del recinto o del cortile per protezione.

1yDisegno di installazione

y Apricancello ¥

Tastiera wireless (opzionale) y
Cancello

y Sensore a infrarossi (opzionale)
y Lampada di allarme

(opzionale) y Blocco di

arresto di

sicurezza y Catena y Telecomando

Figura 1

2yDimensioni del motore principale

5 S
J . : ~—

M




Machine Translated by Google

Base di montaggio staccabile Base di montaggio monoblocco

Figura 2

3yDimensione del foro incorporato

40

! -
|
_IAlle ollh mT19Ts 8
T f < ‘ ] @ ¢ @
LT |
Il 17| O
| | L] O '
B N | Al L Ifle o o o
15 ST £
Base di montaggio staccabile Base di montaggio monoblocco
Figura 3

4. Procedure di installazione

4.1yLavori di preparazione prima dell'installazione

Assicurarsi che il cancello scorrevole sia installato correttamente, che la guida del cancello sia orizzontale e
che il cancello possa scorrere avanti e indietro senza problemi quando viene spostato manualmente prima

installazione dell'apricancello.

Installazione del cavo

Si prega di interrare il motore, il cavo di alimentazione e il cavo di controllo con un tubo in PVC e utilizzare
due tubi in PVC per interrare separatamente (il motore e il cavo di alimentazione) e (il cavo di controllo), quindi
per garantire il normale funzionamento dell'apricancello e proteggere i cavi da

danni.

Piedistallo in cemento
Si prega di gettare un piedistallo in cemento con dimensioni di 500 mm x 350 mm e profondita di

200 mm in anticipo, in modo da installare saldamente I'apriporta SL600ACL. Si prega di verificare

-7-



Machine Translated by Google

se la distanza tra il cancello e I'apricancello & adeguata prima di fondere il piedistallo.

Viti incastonate

Mounting base

Mounting base

ﬁ ﬁ Foundation bolt
Concrete [ E 1~ ‘

Power line

Figura4

4.2yInstallazione del motore principale

a) Smontare l'alloggiamento in plastica sul motore principale prima dell'installazione e conservare
correttamente gli elementi di
fissaggio pertinenti; b) Se si seleziona la base di montaggio staccabile, la base deve essere assemblata

prima come mostrato nella Figura 5:



Machine Translated by Google

Flat washer ¢ 6

e| ~ ~ Horizontal mounting plate
¥ a Vertical mounting platen
‘| Inner hexagon screw M6x20

Figura s

¢) Montare il motore della macchina sulla base di montaggio come mostrato in Figura 6;

Nut M8
Spring washer 8

&/ Flat washer ¢8
Hexagon screw M8 x 35

Mounting base

Figura 6
d) Si prega di preparare la linea di alimentazione per il collegamento della piastra di montaggio e del
motore principale (il numero di anime del cavo di alimentazione non deve essere inferiore a 3 pezzi,
l'area della sezione dell'anima del cavo non deve essere inferiore a 1,5 mm e la lunghezza
deve essere determinata dagli utenti in base alla situazione sul campo) a causa delle diverse installazioni.

ambienti,



Machine Translated by Google

e) Sbloccare il motore principale prima dell'installazione. Il metodo di sblocco & il seguente: rimuovere
il coperchio della chiave, inserire la chiave e aprire la barra di sblocco manuale finché non ruota di 90",
come mostrato nella Figura 7. Quindi girare la ruota dentata di uscita e la ruota dentata pud essere

ruotata facilmente;

Figura 7

4.3yInstallazione della catena

Chiudere il cancello; collegare il tirante con la catena attraverso la maglia della catena; fissare il tirante
alla piastra di collegamento della porta con rondelle e dadi come mostrato nella Figura 8. Se
necessario, I'elasticita della catena pud essere regolata attraverso il tirante su entrambe le estremita
come mostrato nelle Figure 9 e 10. Se necessario, la catena pud essere accorciata. Se deve essere

allungata, assicurarsi di utilizzare lo stesso tipo di catena.

“./\\
/ ~

# SN\ /
> &N+
2 ~_ Tie rod
\——, —
N, ;
% ’
Vi 8N
v,';/ '.””‘l 7
A %
" e
7’6)’\2?{/?// \
Ve s N N
KU”/ N\ Chain "\ Chain link
Figura 8

-10 -



Machine Translated by Google

Se il telaio della porta € rotondo, utilizzare la vite rotonda come mostrato nella Figura 9:

Flat washer ¢ 8
Spnng washer¢’8\
- NutM8™\

NuLl§. N\
Spring washer 6 .
Flat washer 6 "\

Figura 9

Se il telaio della porta & quadrato, utilizzare la vite quadrata come mostrato nella Figura 10

Flat washer¢ 8

Spring washer ¢ 8* \
Nut Ma\ \ Tie rod
Nut M6 \\ F =
Spring washer¢ 6\

Flat washer@B \ )

Gate .~ . Square screw

Figura 10

Installazione della catena, pignone piccolo e grande come mostrato nella Figura 11:

-11 -



Machine Translated by Google

Figura 11

Installazione del coperchio della ruota dentata come mostrato nella Figura 12:

Figura 12

La distanza tra il motore principale e le estremita della catena deve essere di almeno 30 cm, come

mostrato nella Figura 13:

-12 -



Machine Translated by Google

=30CM

-1

OO GCIGOIG GCIOIE

Figura 13

A Avvertenze

y Per garantire la sicurezza, installare blocchi di arresto di sicurezza su entrambe le estremita delle guide per evitare
il cancello fuori dalla rotaia. Prima di installare il motore principale, assicurarsi che il
i blocchi di arresto di sicurezza sono in posizione e se hanno la funzione di prevenire
il cancello esca dal binario e dal raggio di sicurezza.

y Assicurarsi che il motore principale e i suoi componenti siano in buone condizioni
proprieta meccaniche e il cancello puo funzionare in modo flessibile quando viene spostato da
mani prima di installare il motore principale.

y In questo prodotto, un controllo pud azionare un solo motore principale, altrimenti, il
il sistema di controllo verra danneggiato.

y L'interruttore differenziale deve essere installato nel punto in cui il movimento del cancello pud
essere visto e l'altezza minima di montaggio € di 1,5 m per proteggerlo dall'essere
toccato.

y Dopo l'installazione, verificare se le proprietd meccaniche sono buone o
non, se il movimento del cancello dopo lo sblocco manuale € flessibile o meno, e

se il sensore a infrarossi (opzionale) & installato correttamente ed efficacemente.

4.4yRegolazione del finecorsa

Utilizzare la chiave di sblocco manuale per sbloccare I'apriporta e spostare manualmente il cancello verso

-13-



Machine Translated by Google

la posizione predeterminata; fissare il blocco dell'interruttore di finecorsa magnetico e chiudere la frizione;
eseguire il test dopo l'accensione, regolare leggermente la posizione del blocco dell'interruttore di finecorsa

magnetico finché il cancello non raggiunge la posizione di limite di apertura e chiusura desiderata.

Installazione del blocco dell'interruttore di finecorsa magnetico:

Gate /’ / ' |
| /
) | [/ |
1 'I ‘
Magnet N 1 ' : [

N | |
Magnetic limit switch block! T~ | A ; | |
L S e it eI l ™~ o | 1) | Lo |
o | ] - | |
Chain [

Figura 14

-14 -



Machine Translated by Google

[

< 20mm

LT ey

Main engine
ﬁ

Magnet

Magnetic limit switch block

Chain
Chain wheel
Gate

arya.

Nut M8
Spring washer ¢8
Flat washer $8

B e e S — — " —

Figura 15

Collegamento elettrico

1. Il collegamento deve essere effettuato in stretta conformita con I'etichetta sul terminale,

e "fuoco” e "zero" non devono essere invertiti.

2. Rispettare le norme di sicurezza e separare le linee elettriche da quelle di controllo.

3. L'involucro del motore deve essere collegato a terra.

4.Secondo lo schema elettrico sottostante, € importante separare la linea di alimentazione
dalla linea di controllo, in particolare non collegare la linea di controllo "switch in place" a
la linea del motore e la linea di alimentazione, altrimenti il controller verra danneggiato.

5. Schema della composizione del quadro di comando e del telecomando

-15 -



Machine Translated by Google

Learn ke){
You can learn
up to 20

remote
controls.

Single limit and
double«

1.2. OutputDC15V «
direct 30ma«’

o \

2. 3. infrared. Prevent
the door from hitting
the object«

Resistance to adjust«

1. ON: open the soft start/<

1.0FF Off Soft start«

Auto closing 2and3¢

A:20FF/30FF—0S..B:20N.30FF—5S8
C:20FF30N—10S. D:20N.30N/--20S«
4.OFF/Resistance. ON/Resistance-

”

A A -~

> &0

(J

2.5. open stop
close cycle«

In—put AC220V/50HZ«

2.4. only open the door<

open stop close cycle

Notused

open stop close cycle

Stop

Parameters:
Frequency:433.92MHZ

Chip: HCS301 (rolling code)
Materials::ABS+aluminium alloy

Size:5.5"3.05"1.38cm

Istruzioni per l'associazione:

Remote control battery model
2TA 12V

l¢——Length 28BMM .

o

Diameter:7.6mm

1. Apprendimento del telecomando: tenere premuto il pulsante di apprendimento fino a quando I'apprendimento

la spia LED & accesa, premere un tasto qualsiasi del telecomando per 1 secondo, quindi il

-16 -



Machine Translated by Google

la codifica e terminata e l'indicatore di apprendimento lampeggia.

2. Elimina password: tieni premuto il pulsante di apprendimento per 12 secondi per
rimuove automaticamente tutti i codici di allineamento e il telecomando originale non € piu valido.

3. Il telecomando adotta la tecnologia avanzata del codice a rotazione del veicolo e il

il codice comune del telecomando all'esterno non e facile da ripetere, in modo efficace

impedendo l'apertura accidentale della porta. Il telecomando & dotato di intelligenza

progettazione del programma. Premere il telecomando per 4 secondi per arrestare automaticamente il
lancio, in modo da evitare che interferisca con altri telecomandi. E salva

alimentazione a batteria remota. Comodo per il trasporto e lo stoccaggio.

4. Puoi imparare a usare piu di 40 telecomandi.

Utilizzare una funzione:

1. Il controller ha la funzione di memoria automatica dello spegnimento. E possibile che

il test di debug é stato eseguito dal produttore, rilevamento dei limiti, quindi

durante l'installazione la porta deve essere spinta verso il centro.

2. Poiché il controller viene acceso dopo che I'alimentazione é stata spenta. Innanzitutto, eseguire il
accendere. Questo & un fenomeno normale.

3. Single key loop: interfaccia single key loop 1.3.

4. Il potenziometro ha la chiusura automatica della porta. Girare in senso antiorario per

minima chiusura automatica della porta. Il LED lampeggia una volta per 1 secondo.

5. Dotato di interfaccia a infrarossi. E ritorno automatico della resistenza.

6. Aprire automaticamente la porta quando l'interfaccia € accesa.

Manutenzione

1. Ricoprire la serratura della frizione con piccole quantita di olio antiruggine per prevenire la formazione di ruggine.

2. Controllare regolarmente le condizioni della messa a terra elettrica.

3. Eseguire controlli regolari per garantire che le parti siano in buone condizioni.

4. 1l motore richiede grasso lubrificante avanzato per un movimento fluido. Si prega di farlo

non applicare oli lubrificanti normali.

5. Il controller posiziona il bambino fuori dalla portata dei bambini. Controllare sempre se il

il filo & rotto, allentato e bagnato. Se lo trovi, per favore stacca l'alta tensione

-17 -



Machine Translated by Google

immediatamente I'alimentazione e riutilizzarla dopo averla riparata e sostituita.

Metodo di risoluzione dei problemi

fenomeno di guasto Analisi

del guasto

Per affrontare il fallimento

A. Il potere

l'indicatore & spento

Non c'é ingresso di alimentazione a 110 V. Contrg

lare la linea di alimentazione.

Il fusibile é rotto.

il connettore non é in posizione

1.1. Controllare I'output
linea per cortocircuito.
2. Sostituire la stessa
specifica dopo la

risoluzione dei problemi

B. Indicatore di alimentazione

la luce & accesa, premere per aprire

La frizione non & chiusa

Richiudere la frizione

-18 -




Machine Translated by Google

e chiudi chiave, porta
il corpo non puo essere

aperto e spento

Danni al circuito stampato dovuti a

cortocircuito o grave

sovraccarico di dispositivi esterni.

Tornato per la riparazione

C. Premere il tasto "apri"
pulsante e "chiudi"
pulsante e la porta

il corpo si fermera

automaticamente o fermarsi

quando il limite &

raggiunto

1.Cavo del sensore di limite cortocircuito

circuito o interruzione.

2.Sensore lontano dal magnete.

1. Controllare il circuito e
risolvere i problemi. Portare il
sensore al punto

magnete.

Limitare i danni

Sostituire il sensore

D. Premere il pulsante
"apri" per diventare verde,
ma premere il pulsante

"chiudi" per fermarsi e

Indietro

Cortocircuito della sonda a infrarossi

linea

Controllare il circuito e

risolvere i problemi della sonda

linea

Sonda a infrarossi danneggiata

Sostituisci l'infrarosso

sonda

E. Il telecomando

diventa piu corto

1.La batteria & scarica

1.Sostituire il

batteria del telecomando
23A 0 27A 12v.

-19-




Machine Translated by Google

Indirizzo: Shuangchenglu 803nong11haol602A-1609shi, baoshanqu, shanghai
200000 NC.

Importato in AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

E-CrossStu GmbH

Rappresentaite della CE

Mainzer Landstr.69, 60329 Francoforte sul Meno.

CONSULENZA YH LIMITATA.

RpPRESEITANpL OECREGNOWTO | o) YH Consulting Limited Ufficio 147, Centurion House,

Via Roma, 101, 00186 Roma, Italia

-20 -



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia

electronica www.vevor.com/support

OPERADOR DE PUERTA CORREDERA
MODELO: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

Seguimos comprometidos a brindarle herramientas a precios competitivos.

"Ahorre la mitad", "mitad de precio" o cualquier otra expresion similar que utilicemos solo representa
una estimacién del ahorro que podria obtener al comprar ciertas herramientas con nosotros en comparaciéon
con las principales marcas y no necesariamente significa que cubra todas las categorias de herramientas

que ofrecemos. Le recordamos que, al realizar un pedido con nosotros, verifique cuidadosamente si

realmente esta ahorrando la mitad en comparacion con las principales marcas.


https://www.vevor.com/support

Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

MODELO: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

-1.,"'}5\
LNy
. ,"‘4

Ty

¢(NECESITA AYUDA? jCONTACTENOS!

¢ Tiene preguntas sobre el producto? ¢ Necesita asistencia técnica? No dude en ponerse en
contacto con

nosotros: Asistencia técnica y certificado de garantia electrénica
www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las instrucciones del

manual antes de utilizar el producto. VEVOR se reserva una interpretacion clara de nuestro
manual de usuario. La apariencia del producto estara sujeta al producto que recibio.
Perdénenos por no informarle nuevamente si hay actualizaciones de tecnologia o software en

nuestro producto.



Machine Translated by Google

Estimado

usuario, Gracias por elegir este producto, por favor lea el manual.
con cuidado antes de montarlo y usarlo.

No omita el manual si envia este producto a un tercero.

fiesta.

Instrucciones de seguridad

1. Asegurese de que el voltaje de alimentacion utilizado coincida con el

Tension de alimentacion del abridor de puerta (AC120V o AC220V); los nifios son
Esta prohibido tocar los dispositivos de control o el mando a distancia.

2. La unidad de control remoto se controla mediante un solo botén.

La luz indicadora de la unidad de control remoto parpadeara cuando

Se presiona el boton. EI motor principal y la puerta se pueden desbloquear.
Llave de desacoplamiento y la puerta se puede mover con manual.

Operacién después del desacoplamiento.

3. Asegurese de que no haya nadie cerca del motor principal o de la puerta.
cuando se opera el interruptor y generalmente se exige examinarlo
la estabilidad de la instalacién. Deje de usarla temporalmente si la instalacién principal

El motor necesita reparacién o regulacion.

4. La instalacién y el mantenimiento de los productos deberan ser

realizado por profesionales.



Machine Translated by Google

Lista de embalaje (base de montaje estandar/desmontable)

1Lista de embalaje

No. Picture Name Quantity
1 _ Main engine 1
A

2 Manual release key 2
Remote control

3 (without battery) 2
(battery model 27A 12V)

4 Sprocket cover 1

5 Chain link 2

6 Chain 6m

7 L Tie rod 2

8 Square screw 4

9 |\\ Round screw 4




Machine Translated by Google

No. Name Quantity
10 Door connecting plate 2
11 Horizontal mounting plate 1
12 Vertical mounting plate 2
13 Expansion screws 4

14 g Magnetic limit switch block 1

f~ Inner hexagon screw
15 M6x16 4

Hexagon screw M6x70 4
16
Hexagon screw M8x35 4

- @@@@ Nut M6 16
@@@@ Nut M8 8

18 gggg Flat washer @8 ' 12
19 EO@EOEDED Spring washer 96 } 16




Machine Translated by Google

2. Lista de embalaje (opcional)

No. Picture

Name

Infrared sensor

Parametros técnicos

Wireless keypad

—c——

Quantity

Modelo

SL600ACL

Fuente de alimentacién

220 V/50 Hz; 110 V/60 Hz

Potencia del motor

370 W/550 W/750 W/1200 W

Peso maximo de la puerta

800 kg/1200 kg/1800 kg/2400 kg

Velocidad de movimiento de la puerta

12 m/min

Distancia del control remoto

230 m

Modo de control remoto

Modo de un solo botén

Interruptor de limite

Interruptor de limite magnético

Ruido

<58dB

Deber de trabajo

S$2,15 minutos

Grabacion de mandos a distancia arriba 25
Frecuencia 433,92 MHz
Temperatura de trabajo -20°C-+70°C
Peso del paquete 20,5 kg

Principio de funcionamiento:

Consta de motor, sinfin y engranaje impulsado. ElI motor impulsa el sinfin y el engranaje impulsado.

engranaje impulsado. El engranaje impulsado a su vez impulsa la cremallera. El motor transfiere su movimiento

energia al zocalo a través de un sinfin y un engranaje impulsado. Ambos engranajes giraran

simultdneamente cuando se acopla el embrague, de modo que la puerta puede abrirse y cerrarse con




Machine Translated by Google

Controles eléctricos sencillos. En caso de corte de corriente, desacoplar el embrague mediante la llave

de desacoplamiento (girandola unos 90°).

Instruccion

Lea atentamente las instrucciones antes de usar el abridor de

portdn corredizo SL600ACL. Es aplicable a portones con un peso inferior a 600 kg y la longitud del
portén corredizo debe ser inferior a 8 m. El modo de accionamiento adopta la transmision por
cadena y rueda dentada. Este abridor de portdn debe instalarse dentro del recinto o patio para su

proteccion.

1. Plano de instalacion

SRS Abridor de puerta
Teclado inaldmbrico (opcional)

Puerta

Sensor infrarrojo (opcional)

Lampara de alarma (opcional)

Y
W

® Bloqueo de parada de

N
N\
‘:\\

Q0
s
ALY

seguridad

N

Cadena  Control remoto

Figura 1

2Tamafio del motor principal

iy e
J B o

i




Machine Translated by Google

Base de montaje desmontable Base de montaje de una sola pieza

Figura 2

3Tamafio del orificio incrustado

% o

10

B
o
&

| | e ——— aN | o & D o
o o b=4 @
Base de montaje desmontable Base de montaje de una sola pieza
Figura 3

4. Procedimientos de instalacion

4.1Trabajos preparatorios antes de la instalacion

Asegurese de que la puerta corrediza esté instalada correctamente, que el riel de la puerta esté horizontal y que
la puerta pueda deslizarse hacia adelante y hacia atras suavemente cuando se mueve con las manos antes

Instalacién del abridor de puerta.

Instalacion de cables

Entierre el motor, el cable de alimentacion y el cable de control con un tubo de PVC y utilice

dos tubos de PVC para enterrar (cable de motor y de alimentacion) y (cable de control) por separado, de modo que
para garantizar el funcionamiento normal del abridor de porton y proteger los cables de

dafios y perjuicios.

Pedestal de hormigén
Por favor, haga un pedestal de hormigén con un tamafio de 500 mm x 350 mm y una profundidad de

200 mm de antelacién para instalar firmemente el abridor de portones SL600ACL. Por favor, verifique

-7-



Machine Translated by Google

si la distancia entre la puerta y el abridor de la puerta es adecuada antes de fundir el pedestal.

Tornillos empotrados
Mounting base

ﬁ Foundation bolt

L

g/ 7 Mounting base

Concrete r

Power line

Figura 4

4 2Instalacion del motor principal

a) Desmonte la carcasa de plastico del motor principal antes de la instalacion y guarde los sujetadores

correspondientes de forma

adecuada; b) Si selecciona la base de montaje desmontable, la base debe ensamblarse primero

como se muestra en la Figura 5:



Machine Translated by Google

Flat washer ¢ 6
. /" Spring washer 96
~ Nut M6
e| ~ ~ Horizontal mounting plate
¥ a Vertical mounting platen
'| Inner hexagon screw M6x20

Figura 5

¢) Ensamble el motor de la maquina a la base de montaje como se muestra en la Figura 6;

Nut M8
Spring washer 8

&/ Flat washer ¢8
Hexagon screw M8 x 35

Mounting base

Figura 6
d) Prepare la linea de alimentacion para conectar la placa de montaje y el motor principal (la
cantidad de nucleos del cable de alimentacion no debe ser inferior a 3 piezas, el area seccional
del nucleo del cable no debe ser inferior a 1,5 mm y la longitud debe ser determinada

por los usuarios de acuerdo con la situacién del campo) debido a las diferentes instalaciones.
entornos,



Machine Translated by Google

e) Desbloquee el motor principal antes de la instalacion. El método de desbloqueo es el siguiente:
retire la tapa de la llave, inserte la llave y abra la barra de liberacion manual hasta que gire 90" como
se muestra en la Figura 7. Luego, gire la rueda dentada de salida y la rueda dentada podra girar

facilmente.

Figura 7

4 3Instalacion de la cadena

Cierre la puerta; conecte la barra de unién con la cadena a través del eslabén de la cadena; fije la
barra de unién a la placa de conexién de la puerta con arandelas y tuercas como se muestra

en la Figura 8. Si es necesario, la elasticidad de la cadena se puede ajustar a través de la barra de
unién en ambos extremos como se muestra en la Figura 9y 10. Si es necesario, la cadena se puede

acortar. Si necesita alargarse, asegurese de utilizar el mismo tipo de cadena.

gt
/ ~

VEN I
/\f.( 0 Cr ‘\ 7
o ~_ Tie rod

/;;\I(K)_’/,o > \\ . \\ . .
&8 N Chain \Cham link

Figura 8

-10 -



Machine Translated by Google

Si el marco de la puerta es redondo, utilice el tornillo redondo como se muestra en la Figura 9:

Flat washer ¢ 8
Spnng washer¢’8\
- NutM8™\

NuLl§. N\
Spring washer 6 .
Flat washer 6 "\

Figura 9

Si el marco de la puerta es cuadrado, utilice el tornillo cuadrado como se muestra en la Figura 10

Flat washer¢ 8

Spring washer ¢ 8* \
Nut Ma\ \ Tie rod
Nut M6 \\ F =
Spring washer¢ 6\

Flat washer@B \ )

Gate .~ . Square screw

Figura 10

Instalacién de cadena, pifidn pequefio y grande como se muestra en la Figura 11:

11 -



Machine Translated by Google

Figura 11

Instalacion de la cubierta de la rueda dentada como se muestra en la Figura 12:

Figura 12

La distancia entre el motor principal y los extremos de la cadena debe ser de al menos 30 cm, como

se muestra en la Figura 13:

-12 -



Machine Translated by Google

=30CM

-1

Figura 13

A Advertencias

Para garantizar la seguridad, instale topes de seguridad en ambos extremos de los rieles para evitar
la compuerta fuera del riel. Antes de instalar el motor principal, asegurese de que la
Los topes de seguridad estan colocados y si tienen la funcién de prevenir
la puerta se salga del riel y del rango de seguridad.

Asegurese de que el motor principal y sus componentes estén en buen estado.
propiedades mecanicas y la puerta puede funcionar de manera flexible cuando se mueve
manos antes de instalar el motor principal.

En este producto, un control puede accionar solo un motor principal, de lo contrario,
El sistema de control se dafiara.  Se

debe instalar un disyuntor de fuga a tierra donde el movimiento de la puerta pueda

ser visible y la altura minima de montaje es de 1,5 m para protegerlo de ser
tocado.

Después de la instalacion, verifique si las propiedades mecéanicas son buenas o
no, si el movimiento de la puerta después del desbloqueo manual es flexible o no, y

si el sensor de infrarrojos (opcional) esta instalado de forma correcta y eficaz.

4.4Ajuste del interruptor de limite

Utilice la llave de liberacion manual para desbloquear el abridor de la puerta y mover manualmente la puerta a

-13-



Machine Translated by Google

la posicion predeterminada; fije el bloque del interruptor de limite magnético y cierre el embrague; realice una
prueba de funcionamiento después del encendido, ajuste ligeramente la posicion del bloque del interruptor de

limite magnético hasta que la puerta alcance la ubicacién de limite de apertura y cierre deseada.

Instalacion del bloque de interruptores de final de carrera magnéticos:

—

\‘?‘\‘ i | i 1‘
Magnetic limit switch block J\ - ‘ \ , ]i !

Chain

Figura 14

-14 -



Machine Translated by Google

[

< 20mm

LT ey

Main engine
ﬁ

Magnet

Magnetic limit switch block

Chain
Chain wheel
Gate

arya.

Nut M8
Spring washer ¢8

Flat washer ¢8

B e e S — — " —

Figura 15

Conexion eléctrica

1. La conexion se realizara en estricta conformidad con la etiqueta del terminal.

y "fuego" y "cero" no se pueden invertir.

2. Respete las normas de seguridad y separe las lineas eléctricas y las lineas de control.

3.La carcasa del motor debe estar conectada a tierra.

4. De acuerdo con el diagrama de cableado a continuacién, es importante separar la linea eléctrica
de la linea de control, especialmente para no conectar la linea de control de "interruptor en su lugar" a
la linea del motor y la linea de alimentacion, de lo contrario el controlador se dafara.

5. Diagrama esquematico de la composicion del tablero de control y control remoto.

-15-



Machine Translated by Google

Learn ke){:w'
You can learn
up to 20
remote
controls.

(o

Single limit and
double«

1.2. OutputDC15V «
direct 30ma«’

2. 3. infrared. Prevent
the door from hitting
the object«

Resistance to adjust«

1. ON: open the soft start/<

1.0FF Off Soft start«

Auto closing 2and3¢
A:20FF/30FF—0S..B:20N.30FF—5S8
C:20FF30N—10S. D:20N.30N/--20S«
4.OFF/Resistance. ON/Resistance-

) i Test the key<
/ < T .

g | o

X | ] =

ll -

2.5. open stop
close cycle«

N2 s\

(J

In—put AC220V/50HZ«

2.4. only open the door<

open stop close cycle

Notused

open stop close cycle

Stop

Parameters:

Frequency:433.92MHZ

Size:5.5"3.05"1.38cm

Chip: HCS301 (rolling code)

Materials::ABS+aluminium alloy

Remote control battery model
2TA 12V

l¢——Length 28BMM .

o

Diameter:7.6mm

Instrucciones de emparejamiento:

1. Control remoto de aprendizaje: mantenga presionado el botdn de aprendizaje hasta que aparezca el mensaje de aprendizaje.

La luz indicadora LED esta encendida, presione cualquier tecla del control remoto durante 1 segundo, luego

-16 -



Machine Translated by Google

La codificacion ha finalizado y el indicador de aprendizaje esta parpadeando.

2. Eliminar contrasefia: mantenga presionado el botén de aprendizaje durante 12 segundos para
Elimina automaticamente todos los cédigos de alineacion y el control remoto original no es valido.

3. El control remoto adopta tecnologia avanzada de codigo rodante del vehiculo y el

El cédigo de control remoto comun en el exterior no es facil de repetir, de manera efectiva

evitando la apertura de la puerta por error. El control remoto tiene un sistema inteligente

Disefio del programa. Presione el control remoto durante 4 segundos para detener automaticamente el
iniciar, para evitar que interfiera con otro control remoto. Y guardar

Alimentacion remota por bateria. Conveniente para el transporte y el almacenamiento.

4. Podras aprender mas de 40 controles remotos.

Utilice una funcion:

1. El controlador tiene la funciéon de memoria automatica de apagado. Es posible que
La prueba de depuracion ha sido realizada por el fabricante, deteccion de limites, por lo que

La puerta debe empujarse hasta el medio durante la instalacion.

2. Porque el controlador se enciende después de apagarlo. En primer lugar, ejecute el comando
Encender. Este es un fenémeno normal.

3. Bucle de llave unica: interfaz de bucle de llave unica 1.3.

4. El potencidmetro tiene cierre automatico de la puerta. Gire en sentido antihorario para

Cierre automatico de puerta con cierre minimo. El parpadeo del LED una vez representa 1 segundo.
5. Equipado con interfaz infrarroja y retorno automatico de resistencia.

6. Abra la puerta automaticamente cuando se encienda la interfaz.

Mantenimiento

1. Cubra la cerradura del embrague con pequefias cantidades de aceite antioxidante para evitar la oxidacion.
2.Compruebe periédicamente el estado de la conexion a tierra eléctrica.

3. Realice controles periédicos para asegurarse de que las piezas estén en buenas condiciones.

4. El motor requiere grasa lubricante avanzada para un movimiento suave.

No aplicar aceites lubricantes regulares.

5. El controlador coloca al nifio fuera del alcance. Compruebe siempre si el
El cable esta roto, suelto y humedo. Si lo encuentra, corte el alto voltaje.

-17 -



Machine Translated by Google

Encienda el dispositivo inmediatamente y utilicelo después de repararlo o reemplazarlo.

Método de solucién de problemas

Fenémeno de falla Analisis de la falla Como afrontar el fracaso

No hay entrada de alimentacién de 110 V. Verifique la linea de alimentacion.

1.1. Verificar la salida

A. El poder
El fusible esta roto. Linea para cortocircuito.

El indicador esta apagado
El conector no esta en su lugar 2. Reemplace la misma

especificacion después

de solucionar el problema.

B. Indicador de encendido El embrague no esta cerrado Vuelva a cerrar el embrague

La luz esta encendida, presione abrir

-18 -



Machine Translated by Google

y cierra la llave, puerta Dafios en la placa de circuito debido a De vuelta para reparacién

El cuerpo no puede ser Cortocircuito o grave

abierto y apagado Sobrecarga de dispositivos externos.

C. Pulse el botén "abrir" 1. Cable del sensor de limite corto 1. Verifique el circuito y
botén y "cerrar” cireuito o rotura. solucionar problemas. Traiga el
botén y la puerta 2.Sensor alejado del iman. sensor al punto

El cuerpo se detendra iman.

automaticamente o detener

imi imi fi Reemplazar el sensor
Cuando el limite es Limitar el dafio eemplazar el sensol

alcanzo6

D. Presione el botén "abrir" Compruebe el circuito y

Cortocircuito de la sonda infrarroja
solucionar problemas de la sonda
para ponerse verde, pero linea

. - " linea
presione el boton "cerrar

para detener y
atras Sonda infrarroja dafiada

Reemplazar el infrarrojo

sonda

. . 1. Reemplace el
E. El mando a distancia

1.La bateria esta baja bateria del control remoto

23A 027A 12v.

se vuelve mas corto

-19-



Machine Translated by Google

Direccién: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 MN.

Importado a Australia: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

E-CrossStu GmbH
REPRESENTANTE CE

Mainzer Landstr.69, 60329 Francfort del Meno.

YH CONSULTING LIMITADA.

REPRESENTANTE DEL REINO UNIDO C/O YH Consulting Limited Oficina 147, Centurion House,

Carretera de Londres, Staines-upon-Thames, Surrey, TW18 4AX

-20 -



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
WwWw.vevor.com/support

SKJUTGRINDSOPERATOR

MODELL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

Vi fortsétter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.

"Spara hélften", "halva priset" eller andra liknande uttryck som anvands av oss representerar
bara en uppskattning av besparingar du kan dra nytta av att kdpa vissa verktyg hos oss jamfort med
de stora toppmaérkena och betyder inte nddvandigtvis att tdcka alla kategorier av verktyg som erbjuds

av 0ss. Du paminns vanligen om att noggrant kontrollera nar du gor en bestéllning hos oss om

du faktiskt sparar halften i jamforelse med de framsta stora varumarkena.


https://www.vevor.com/support

Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

MODELL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

-1.,"'}5\

LNy

. ,"‘4
'

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfragor? Behover du teknisk support? Kontakta oss garna: Teknisk support och
e-

garanticertifikat www.vevor.com/support

Detta ar den ursprungliga instruktionen, 1&s alla instruktioner noggrant innan du

anvander den. VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet
pa produkten ar beroende av den produkt du fatt. Ursakta oss att vi inte kommer att

informera dig igen om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

Kéara

anvéndare, Tack for att du valde denna produkt, 1as bruksanvisningen
noggrant innan du monterar och anvander den.

Vénligen lamna inte ut manualen om du skickar denna produkt till en tredje
part.

Sakerhetsinstruktion

1. Se till att den anvanda stromspéanningen matchar

matningsspanning for grindéppnare (AC120V eller AC220V); barn ar
forbjudet att vidrora kontrollenheterna eller fjiarrkontrollenheten.

2. Fjarrkontrollenheten styrs av ett lage med en knapp.
Indikatorlampan pa fjarrkontrollen kommer att flimra nar

knappen pa den trycks in. Huvudmotor och grind kan lasas upp av
urkopplingsnyckel och porten kan réra sig med manuell

operation efter urkoppling.

3. Se till att ingen ar i narheten av huvudmotorn eller grinden

nar strombrytaren ar aktiverad och det brukar kravas att undersoka
installationens stabilitet. Vanligen sluta tillfalligt anvanda om huvud
motorn behdver repareras eller regleras.

4. Installation och underhall av produkterna maste vara
utfors av proffs.



Machine Translated by Google

Packlista (standard / avtagbar monteringsbas)

1y Packlista
No. Picture Name Quantity
1 _ Main engine 1
A

2 Manual release key 2
Remote control

3 (without battery) 2
(battery model 27A 12V)

4 Sprocket cover 1

5 Chain link 2

6 Chain 6m

7 L Tie rod 2

8 Square screw 4

9 |\\ Round screw 4




Machine Translated by Google

No. Name Quantity
10 Door connecting plate 2
11 Horizontal mounting plate 1
12 Vertical mounting plate 2
13 Expansion screws 4

14 g Magnetic limit switch block 1

f~ Inner hexagon screw
15 M6x16 4

Hexagon screw M6x70 4
16
Hexagon screw M8x35 4

- @@@@ Nut M6 16
@@@@ Nut M8 8

18 gggg Flat washer @8 ' 12
19 EO@EOEDED Spring washer 96 } 16




Machine Translated by Google

2y Packlista (valfritt)

Name

Infrared sensor

‘ No. Picture
2t W L
‘& {2}
1 HOREEOE
\\1 ,/ \ ",r/
. —
| e A
2 shn/,

Tekniska parametrar

Wireless keypad

Quantity

Modell

SL600ACL

Stréomforsorjning

220V/50Hz;110V/60Hz

Motorkraft

370W/550W/750W/1200W

Portens maximala vikt

800kg/1200kg/1800kg/2400kg

Portens rorelsehastighet 12m/min
Fjarrkontroll avstand y30m
Fjarrkontrolllage Enkelknappslage

Gréanslégesbrytare

Magnetisk grénslagesbrytare

Buller y58dB
Arbetsplikt S2,15 min
Inspelning av upp fjarrkontroller 25
Frekvens 433,92 MHz
Arbetstemperatur -20°C-+70C
Paketets vikt 20,5 kg

Arbetsprincip:

Den bestér av motor, snackvéxel och driven véaxel. Motorn driver snackvaxel och

driven vaxel. Det drivna kugghjulet driver i sin tur kuggstangen. Motorn Gverfor sin rorelse

energi till uttaget genom snécka och driven véaxel. Bada vaxlarna kommer att rotera

samtidigt nar kopplingen &r i, s& att dérren kan 6ppnas och stangas med




Machine Translated by Google

enkla elektriska kontroller. Om strémavbrott sker, koppla ur kopplingen genom
urkopplingsnyckeln (genom att vrida den ca 90°).

Instruktion

Vanligen las instruktionerna noggrant fore

anvandning. SL600ACL skjutportsbppnare ar anvandbar for grindvikt mindre an
600 kg och langden pa skjutgrinden bor vara mindre an 8m. Korlaget anvander
drevet och kedjetransmissionen. Denna portGppnare maste installeras inuti holjet
eller garden for skydd.

1y Installationsritning

y Portéppnare

y Tradlos knappsats (tillval) y
Port y

infrarod sensor (tillval) y
Larmlampa (tillval) ¥
Sakerhetsstoppblock

y Kedja

y Fjarrkontroll

Figur 1

2, Storlek p& huvudmotor

= N
m @
S ﬂ\

M




Machine Translated by Google

Lostagbar monteringsbas Monteringsbas i ett stycke

Figur 2

3, Storlek pa inbaddat hal

{ ]
| i
o | o .
- [ 3 9 1
| ! ‘
= ] il O
B | .O
L . o T | (S | O————— ) ) LG o o]
ol 19| 19 .
Lostagbar monteringsbas Monteringsbas i ett stycke
Figur 3

4yInstallationsprocedurer

4.1yForberedelsearbete fore installation

Se till att skjutgrinden ar korrekt installerad, att grindskenan &r horisontell och att grinden
kan glida fram och tillbaka smidigt nar den flyttas med h&nderna innan

installation av portdppnaren.

Kabelinstallation
Grav ner motor- och stromkabeln och styrkabeln med PVC-r6r och anvand den
tvad PVC-ror att grava ner (motor & strémkabel) och (kontrollkabel) separat, sa

for att garantera normal drift av portéppnaren och skydda kablarna fran

skadestand.

Betong piedestal
Vanligen gjut en betongsockel med storleken 500 mm x 350 mm och djup

200 mm i forvag. sa att SL600ACL-portdppnaren kan installeras ordentligt. Vanligen verifiera

-7-



Machine Translated by Google

om avstandet mellan grind och grindoppnare ar lampligt innan gjutning av sockeln.

Inbaddade skruvar

Mounting base

Concrete ; TE’T ﬁ /@i"“m“

@/ ! Mounting base

Power line

Figur 4

4.2y Huvudmotorinstallation

a) Demontera plasthdéljet pa huvudmotorn fore installation och férvara relevanta
fastelement korrekt; b) Om

du valjer den léstagbara monteringsbasen ska basen monteras férst enligt figur 5:



Machine Translated by Google

Flat washer ¢ 6
. /" Spring washer 96
~  Nut M6
e| ~ ~ Horizontal mounting plate
¥ a Vertical mounting platen

L/
| Inner hexagon screw M6x20

Figur 5

c) Montera maskinmotorn pa monteringsbasen som visas i figur 6;

Nut M8

/ Spring washer ¢8
F

lat washer 98
Hexagon screw M8 x 35

Mounting base

Bild 6
d) Forbered kraftledningen for anslutning av monteringsplatta och huvudmotor
(antalet natkabelkarnor ska inte vara mindre 4n 3 PCS, kabelkarnan far inte vara
mindre an 1,5 mm' och langden ska bestdmmas av anvandare beroende
pa faltsituationen) p& grund av olika installationer
miljéer,



Machine Translated by Google

e) L&s upp huvudmotorn fére installation, upplasningsmetoden &r: ta ut nyckelk&pan,
sétt i nyckeln och 6ppna den manuella frigéringsstangen tills den roterar 90" som
visas i figur 7. Vrid sedan det utgdende kedjehjulet och kedjehjulet kan enkelt roteras;

Bild 7

4.3yKedjeinstallation

Stang porten; anslut dragstangen med kedjan genom kedjelanken; fast dragstangen
pa dorrens anslutningsplatta med brickor och muttrar som visas i figur 8.

Vid behov kan kedjans elasticitet justeras genom dragstangen i bada andar som
visas i figur 9 och 10. Vid behov kan kedjan forkortas. Om den behdver forlangas,
se till att anvanda samma typ av kedja.

#
AN
\f'\<,)‘ it
Pal
,////'/\-as@
5%
/.fvz:'\j ,‘"{: s 4 \
A \
20, e \
Y oo el N \
e N Chain 3 Chain link
hr/,'/./ o b s e \ i
Bild 8

-10 -



Machine Translated by Google

Om dorrkarmen &r rund, anvand den runda skruven som visas i figur 9:

Flat washer ¢ 8
Spnng washer¢8 \
" Nut M8 W\ .

NuL MG N\
Spring washer 6 .
Flat washer $6 "\

Gale " ™._Round screw

Bild 9
Om dorrkarmen &r fyrkantig, anvand den fyrkantiga skruven som visas i figur 10
Flat washer 68
Spring washer ¢ 8* \
\) Y
Nut M Te rod

Nut M6 \ o

Spring washer¢ 6\

Flat washeroﬁ \‘

Gate .~ “~.__Square screw

Bild 10

Installation av kedja, litet och stort kedjehjul som visas i figur 11:

-11 -



Machine Translated by Google

Bild 11

Installation av kedjehjulskapan enligt figur 12:

Bild 12

Avstandet mellan huvudmotorn och kedjedndarna bor vara minst 30 cm, som visas
i figur 13:

-12 -



Machine Translated by Google

=30CM

Bild 13

A Varningar

y For att garantera sakerheten, installera sakerhetsstoppblock pa bada andarna av skenorna for att forhindra
grinden ut ur skenan. Innan du installerar huvudmotorn, se till att
sakerhetsstoppar finns pa plats och om det har funktionen att férebygga
grinden fran att flytta ut ur skenan och utanfor sakerhetsomradet.

y Se till att huvudmotorn och dess komponenter ar bra
mekaniska egenskaper och grinden kan fungera flexibelt nar den flyttas forbi
handerna innan huvudmotorn installeras.

y | denna produkt kan en kontroll endast driva en huvudmotor, annars kan
kontrollsystemet kommer att skadas.

y Jordfelsbrytare méaste installeras dar grindens rérelse kan
ses, och den minsta monteringshoéjden ar 1,5 m for att skydda den fran att vara
rord.

y Efter installationen, kontrollera om den mekaniska egenskapen ar god eller
inte, om grindrorelsen efter manuell upplasning ar flexibel eller inte, och

om den infrarbda sensorn (tillval) ar korrekt och effektivt installerad.

4.4yJustering av granslagesbrytare

Anvand manualen. slapp nyckeln for att Idsa upp portdppnaren och manuellt flytta porten till

-13-



Machine Translated by Google

den forutbestdmda positionen; fixera det magnetiska granslagesbrytarblocket och stang
kopplingen; testkorning efter paslagning, justera laget for det magnetiska
granslagesbrytarblocket nagot tills grinden nar 6nskad plats fér 6ppning och stangning.

Installation av magnetisk granslagesbrytare:

7
= e e = = / / ===
j[ — //,/’
| [/
Gate I | / /
sate | 7/
\ ’ , [/
Magnet ! e ( | | {'
=== L | ’
= ‘ | i |
Magnetic limit switch block! ™~ ‘ l:\ A
- e Bl - SR | Nt | 1) | | |
= (| 8]
|

—|
|
|

| e
| | |

) |

Bild 14

-14 -



Machine Translated by Google

[

< 20mm

LT ey

Main engine
ﬁ

Magnet

Magnetic limit switch block

Chain

Chain wheel
Gate

arya.

Nut M8
Spring washer ¢8

Flat washer ¢8

R e T —— e "4

Bild 15

Elektrisk anslutning

1. Anslutningen ska goras i strikt Overensstammelse med etiketten pa terminalen,
och "eld" och "noll" ska inte vandas.

2.Beakta sakerhetsforeskrifter och separata kraftledningar och kontrollledningar.

3. Motorkapslingen maste vara jordad.

4. Enligt kopplingsschemat nedan ar det viktigt att separera kraftledningen

frn styrledningen, speciellt att inte koppla "switch in place" styrledningen till
motorledningen och kraftledningen, annars skadas styrenheten.

5. Schematiskt diagram 6ver sammanséttningen av styrkortet och fjarrkontrollen

-15 -



Machine Translated by Google

Resistance to adjust«
1. ON: open the soft start/<

1.0FF Off Soft start«

Learn key:< Auto closing 2and3«

lvlgt{:azlﬁearn A:20FF/30FF—0S..B:20N.30FF—5S8
remote C:20FF30N—10S. D:20N.30N/--20S+«
controls. 4 OFF/Resistance. ON/Resistance-

b

Fuse 10A/250V<

o0 W M 4 i 1 s AR

\ i Test the key<

=

S limit< maotore!

L 29 NON® N o g X ll

Single limit and
double«

1.2. OutputDC15V «
direct 30ma«’

(J

2. 3. infrared. Prevent
the door from hitting
the object«

2.5. open stop In—put AC220V/50HZ<
close cycle« ‘

2.4. only open the door<

open stop close cycle open stop close cycle

Notused Stop
Parameters: Remote control battery model
Frequency:433.92MHZ 2TA 12V
Chip: HCS301 (rolling code) le——Length 28MM .

Materials::ABS+aluminium alloy f ‘

Diameter:7.6mm

Size:5.5"3.05"1.38cm

Kopplingsinstruktioner:
1. Inlarningsfjarrkontroll: hall ned inlarningsknappen tills inlarningen
indikatorlampan lyser, tryck pa valfri knapp pa fjarrkontrollen i 1 sekund och sedan

-16 -



Machine Translated by Google

kodningen ar klar och inlarningsindikatorn blinkar.

2. Radera lésenord: tryck och hall ned inlarningsknappen i 12 sekunder for att
ta bort alla inriktningskoder automatiskt och den ursprungliga fjarrkontrollen ar ogiltig.

3. Fjarrkontrollen antar avancerad teknik for fordonsrullande kod, och
Gemensam fjarrkontrollkod pa utsidan &r inte latt att upprepa, effektivt
férhindra att dérren 6ppnas av misstag. Fjarrkontrollen har intelligent
programdesign. Tryck pa fjarrkontrollen i 4 sekunder for att automatiskt stoppa
starta for att forhindra att den stor andra fjarrkontroller. Och spara

fjarrstyrd batteridrift. Bekvam for transport och forvaring.

4. Du kan lara dig mer an 40 fjarrkontroller.

Anvand en funktion:

1. Styrenheten har den automatiska minnesfunktionen for avstangning. Det &r méjligt att
felsokningstestet har utforts av tillverkaren, gransdetektering, sa

dérren maste skjutas till mitten under installationen.

2. Eftersom kontrollern sl&s pé efter att strtdmmen stangts av. Forst och framst, kor

sétta pa. Detta &r ett normalt fenomen.

3. Enkelnyckelslinga: Enkelnyckelslinga granssnitt 1.3.

4. Potentiometern har automatisk dorrstangning. Vrid moturs till

minimum stangning automatisk dorrstangning. LED-flimmer en gang representerar 1 sekund.
5. Utrustad med infrarétt granssnitt. Och automatisk motstandsretur.

6. Oppna dérren automatiskt nar granssnittet slas pa.

Underhall

1.Belagg kopplingens nyckelhdl med sma méangder rostskyddsolja for att férhindra rost.

2. Kontrollera regelbundet tillstandet for den elektriska jordningen.

3. Utfor regelbundna kontroller for att sakerstélla att delarna &r i gott skick.

4. Motorn kraver avancerat smorjfett for smidig rérelse. Snalla gor det

applicera inte vanliga smarjoljor.

5. Kontrollenheten placerar barnet utom rackhall. Kontrollera alltid om

tradden ar trasig, 16s och blét. Om du hittar det, vanligen bryt av hdogspanningen

-17 -



Machine Translated by Google

strom omedelbart och anvand den efter reparation och byte.

SR
e e el =l

) g B
=y =0 i

o s 4l

L,.

Felsokningsmetod

felfenomen Analys av felet

Att hantera misslyckanden

A. Kraften

indikatorn ar av

Det finns ingen 110V stréming&ng Kontrollera strémledningen

1.1. Kontrollera utgngen
Sékringen ar trasig. De linje for kortslutning.
kontakten &r inte pa plats 2. Byt ut samma
specifikation efter

felsbkning

B. Stromindikator

lampan lyser, tryck pa 6ppna

Kopplingen &r inte sténgd Sténg kopplingen igen

-18 -




Machine Translated by Google

och stang nyckel, dorr
kropp kan inte.vara

oppnas och sténgs av

Kretskortskada pga

kortslutning eller allvarlig

Overbelastning av externa enheter.

Tillbaka for reparation

C. Tryck p& "6ppna"
knapp och "stang"
knappen och dérren
kroppen kommer att stanna
automatiskt eller stoppa
nar gransen gar

natt

1. Limit sensorkabel kort

krets eller avbrott.

2.sensor bort frAin magneten.

1. Kontrollera kretsen och
felsoka. Ta med
sensor till punkten

magnet.

Begransa skadan

Byt ut sensorn

D. Tryck pa "6ppna’-
knappen for att bli grén,

men tryck pa "stang"-

knappen for att stoppa och

tillbaka

Kortslutning av infraréd sond

linje

Kontrollera kretsen och

felsdka sonden

linje

Infrar6d sond skadad

Byt ut den infrardda

sond

E. Fjarrkontrollen

blir kortare

1. Batteriet ar lagt

1. Byt ut

fiarrkontroll batteri
23A eller 27A 12v.

-19-




Machine Translated by Google

Adress: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200 000 CN.

Importerad till AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australien

EC REP E-CrossStu GmbH

Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.

UK REP

C/O YH Consulting Limited Office 147, Centurion House,

London Road, Staines-upon-Thames, Surrey, TW18 4AX

-20-



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevaor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat

www.vevor.com/support

SCHUIFPOORTBEDIENING

MODEL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.

"Save Half", "Half Price" of andere soortgelijke uitdrukkingen die wij gebruiken, geven alleen een schatting van de
besparingen die u kunt behalen door bepaalde gereedschappen bij ons te kopen in vergelijking met de grote topmerken
en betekent niet noodzakelijkerwijs dat alle categorieén gereedschappen die wij aanbieden, worden gedekt. Wij

herinneren u eraan om zorgvuldig te controleren of u daadwerkelijk de helft bespaart in vergelijking met de grote

topmerken wanneer u een bestelling bij ons plaatst.


https://www.vevor.com/support

Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

MODEL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

-1.,"'}5\
LNy
. ,"‘4

N

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan gerust

contact met

ons op: Technische ondersteuning en E-garantiecertificaat
www.vevor.com/support

Dit is de originele instructie, lees alle handleidingen zorgvuldig door voordat u het

product gebruikt. VEVOR behoudt zich een duidelijke interpretatie van onze gebruikershandleiding
voor. Het uiterlijk van het product is afhankelijk van het product dat u hebt ontvangen.

Vergeef ons dat we u niet opnieuw zullen informeren als er technologie- of software-updates

voor ons product zijn.



Machine Translated by Google

Beste

gebruiker, Bedankt voor het kiezen van dit product, lees de handleiding aandachtig door.
zorgvuldig door voordat u het monteert en gebruikt.

Laat de handleiding niet achter als u dit product naar een derde stuurt.

feest.

Veiligheidsinstructie

1. Zorg ervoor dat de gebruikte netspanning overeenkomt met de

voedingsspanning van poort opener (AC120V of AC220V); kinderen zijn
Het is verboden de bedieningsapparaten of de afstandsbediening aan te raken.

2. De afstandsbediening wordt bediend met één enkele knop.

Het indicatielampje op de afstandsbediening knippert wanneer de

knop erop wordt ingedrukt. Hoofdmotor en poort kunnen worden ontgrendeld door
ontkoppelingssleutel en de poort kan met de hand worden bewogen

werking na ontkoppeling.

3. Zorg ervoor dat er zich niemand in de buurt van de hoofdmotor of poort bevindt
wanneer de schakelaar wordt bediend en er meestal om onderzoek wordt gevraagd
de stabiliteit van de installatie. Stop tijdelijk met het gebruik als de hoofd

Motor moet gerepareerd of afgesteld worden.

4. De installatie en het onderhoud van de producten moeten

uitgevoerd door professionals.



Machine Translated by Google

Paklijst (standaard / afneembare montagebasis)

1. Paklijst
No. Picture Name Quantity
1 _ Main engine 1
A

2 Manual release key 2
Remote control

3 (without battery) 2
(battery model 27A 12V)

4 Sprocket cover 1

5 Chain link 2

6 Chain 6m

7 L Tie rod 2

8 Square screw 4

9 |\\ Round screw 4




Machine Translated by Google

No. Name Quantity
10 Door connecting plate 2
11 Horizontal mounting plate 1
12 Vertical mounting plate 2
13 Expansion screws 4

14 g Magnetic limit switch block 1

f~ Inner hexagon screw
15 M6x16 4

Hexagon screw M6x70 4
16
Hexagon screw M8x35 4

- @@@@ Nut M6 16
@@@@ Nut M8 8

18 gggg Flat washer @8 ' 12
19 EO@EOEDED Spring washer 96 } 16




Machine Translated by Google

2. Paklijst (optioneel)

‘ No. Picture

Name

Infrared sensor

Technische parameters

Wireless keypad

Quantity

—_——— e

Model

SL600ACL

Stroomvoorziening

220V/50Hz;110V/60Hz

Motorvermogen

370W/550W/750W/1200W

Maximaal gewicht van de poort

800kg/1200kg/1800kg/2400kg

Snelheid van de poortbeweging 12m/min
Afstandbediening afstand y30m
Afstandsbedieningsmodus Eénknopsmodus

Eindschakelaar

Magnetische eindschakelaar

Lawaai y58dB
Werkzaamheden S2,15min
Opname van afstandsbedieningen 25
Frequentie 433,92 MHz
Werktemperatuur -20°C-+70C
Pakketgewicht 20,5 kg

Werkingsprincipe:

Het bestaat uit een motor, wormwiel en aangedreven tandwiel. De motor drijft wormwiel en

aangedreven tandwiel. Het aangedreven tandwiel drijft op zijn beurt de tandheugel aan. De motor brengt zijn beweging over

energie naar de socket via worm en aangedreven tandwiel. Beide tandwielen zullen roteren

gelijktijdig wanneer de koppeling is ingeschakeld, zodat de deur met één hand kan worden geopend en gesloten




Machine Translated by Google

eenvoudige elektrische bedieningen. Als de stroom uitvalt, ontkoppelt u de koppeling via de

ontkoppelsleutel (door deze ongeveer 90° te draaien).

Instructie

Lees de instructies zorgvuldig door voordat u de SL600ACL

schuifpoort opener gebruikt. Deze is geschikt voor poorten met een gewicht van minder dan 600
kg en de lengte van de schuifpoort moet minder dan 8 m zijn. De aandrijfmodus gebruikt
tandwiel- en kettingtransmissie. Deze poort opener moet ter bescherming in de behuizing of

op het erf worden geinstalleerd.

1. Installatietekening

y Poortopener y

Draadloos toetsenbord (optioneel)
y Poort

y Infraroodsensor (optioneel) §
Alarmlamp (optioneel) §
Veiligheidsstopblok ¥

Ketting y

Afstandsbediening

Figuur 1

2. Grootte van de hoofdmotor

ﬁ\ [ i

M




Machine Translated by Google

Afneembare montagebasis Eéndelige montagebasis

Figuur 2

3. Grootte van het ingebedde gat

%5

{ 7
5 5
A o (o} Sl T o
“ \!J A % : i
Wi ] O
| l O '
L_e T, P % C ) - @ | 6O D o
Afneembare montagebasis Eéndelige montagebasis
Figuur 3

4. Installatieprocedures

4.1yVoorbereidende werkzaamheden voor de installatie

Zorg ervoor dat de schuifpoort correct is geinstalleerd, dat de poortrail horizontaal is en dat de poort
soepel heen en weer kan glijden wanneer deze met de hand wordt bewogen voordat u de poort opent.

Het installeren van de poortopener.

Kabelinstallatie

Begraaf de motor- en stroomkabel en de bedieningskabel met een PVC-buis en gebruik

twee PVC-buizen om (motor- en stroomkabel) en (besturingskabel) apart in te graven, zodat
om de normale werking van de poortopener te garanderen en de kabels te beschermen tegen

schade.

Betonnen sokkel
Giet een betonnen sokkel met de afmetingen 500 mm x 350 mm en een diepte van

200mm van tevoren.om de SL600ACL poort opener stevig te installeren. Controleer

-7-



Machine Translated by Google

of de afstand tussen de poort en de poortopener geschikt is voordat de sokkel wordt gegoten.

Ingebedde schroeven
Mounting base

ﬁ Foundation bolt

g/ 7 Mounting base

Concrete r

Power line

Figuur 4

4.2yHoofdmotorinstallatie

a) Demonteer de kunststof behuizing van de hoofdmotor voér de installatie en bewaar de relevante

bevestigingsmiddelen op de juiste

manier; b) Als u kiest voor de afneembare montagebasis, moet de basis eerst worden gemonteerd zoals

weergegeven in Afbeelding 5:



Machine Translated by Google

Flat washer ¢ 6
/" Spring washer 96
~  Nut M6
e| ~ ~ Horizontal mounting plate
. Vertical mounting platen
'| Inner hexagon screw M6x20

Figuur 5

¢) Monteer de machinemotor op de montagebasis zoals weergegeven in Figuur 6;

Nut M8
Spring washer 8

&/ Flat washer ¢8
Hexagon screw M8 x 35

Mounting base

Figuur 6
d) Bereid de stroomkabel voor om de montageplaat en de hoofdmotor aan te sluiten (het
aantal kernen van de stroomkabel mag niet minder zijn dan 3 stuks, de doorsnede van de
kabel mag niet kleiner zijn dan 1,5 mm' en de lengte moet door de gebruiker
worden bepaald op basis van de situatie in het veld) vanwege verschillende installatiemethoden

omgevingen,



Machine Translated by Google

e) Ontgrendel de hoofdmotor vé6r de installatie. De ontgrendelingsmethode is als volgt: verwijder het klepje
van de sleutel, steek de sleutel erin en open de handmatige ontgrendelingsstang totdat deze 90 inch draait,
zoals weergegeven in Afbeelding 7. Draai vervolgens aan het uitgaande tandwiel en het tandwiel kan

gemakkelijk worden gedraaid;

Figuur 7

4.3yKettinginstallatie

Sluit de poort; verbind de trekstang met de ketting door middel van de kettingschakel; bevestig de
trekstang aan de deurverbindingsplaat met ringen en moeren zoals weergegeven in

Afbeelding 8. Indien nodig kan de elasticiteit van de ketting worden aangepast via de trekstang aan
beide uiteinden zoals weergegeven in Afbeelding 9 en 10. Indien nodig kan de ketting worden ingekort.

Als deze moet worden verlengd, zorg er dan voor dat u hetzelfde type ketting gebruikt.

“./\\
/ ~

A
/\L.< N Cr ‘\ 7
N ~_ Tie rod
\——, —
al .
% ’
7o SN 7
v,';/ '.””‘l 7
A %
,,’,,’/"}’;/ o)
Ve N N
KU”/ N\ Chain "\ Chain link
Figuur 8

-10 -



Machine Translated by Google

Als het deurkozijn rond is, gebruik dan de ronde schroef zoals weergegeven in Afbeelding 9:

Flat washer ¢ 8
Spnng washer¢8\
| Nut M8‘ A

Nul M6 N\
Spring washer ¢ 6 .
Flat washer 6 . :\

Figuur 9

Als het deurkozijn vierkant is, gebruik dan de vierkante schroef zoals weergegeven in Afbeelding 10

Flat washer¢ 8

Spring washer ¢ 8* \
Nut Ma\ \ Tie rod
Nut M6 N\ S
Spring washer ¢ 6 .

Flat washer@ﬁ \‘

Gate .~ . Square screw

Figuur 10

Montage van de ketting, klein en groot tandwiel zoals weergegeven in Figuur 11:

-11 -



Machine Translated by Google

Figuur 11

Montage van het tandwieldeksel zoals afgebeeld in Figuur 12:

Figuur 12

De afstand tussen de hoofdmotor en de uiteinden van de ketting moet minimaal 30 cm zijn, zoals

weergegeven in Afbeelding 13:

-12 -



Machine Translated by Google

=30CM

oG = ORI O lo-ojlc-oi{c—c]
' /]
i L //

Figuur 13

A Waarschuwingen

y Om de veiligheid te garanderen, installeert u aan beide uiteinden van de rails veiligheidsstopblokken om te voorkomen dat de rails losraken.
de poort uit de rail. Voordat u de hoofdmotor installeert, moet u ervoor zorgen dat de
zijn er veiligheidsstopblokken aanwezig en of deze de functie hebben om te voorkomen
dat de poort buiten de rails en buiten het veiligheidsbereik beweegt.

y Zorg ervoor dat de hoofdmotor en de onderdelen ervan goed zijn
mechanische eigenschappen, en de poort kan flexibel werken wanneer deze wordt bewogen door
handen voordat u de hoofdmotor monteert.

y Bij dit product kan één besturing slechts één hoofdmotor aansturen, anders kan de
besturingssysteem zal beschadigd raken.

y Er moet een aardlekschakelaar worden geinstalleerd waar de poortbeweging kan worden geblokkeerd.
zichtbaar zijn en de minimale montagehoogte is 1,5 m om te voorkomen dat het wordt
aangeraakt.

y Controleer na de installatie of de mechanische eigenschappen goed zijn of
niet, of de poortbeweging na handmatige ontgrendeling flexibel is of niet, en

of de infraroodsensor (optioneel) correct en effectief is geinstalleerd.

4.4yAfstelling eindschakelaar

Gebruik de handmatige ontgrendelingssleutel om de poortopener te ontgrendelen en de poort handmatig te bewegen

-13-



Machine Translated by Google

de vooraf bepaalde positie; bevestig het magnetische eindschakelaarblok en sluit de koppeling; voer
een testrun uit na het inschakelen van de stroom; pas de positie van het magnetische

eindschakelaarblok lichtjes aan totdat de poort de gewenste openings- en sluitingslimietlocatie bereikt.

Montage van magnetische eindschakelaarblok:

Figuur 14

-14 -



Machine Translated by Google

[

< 20mm

LT ey

Main engine
— |
Magnet

Magnetic limit switch block

Chain

Chain wheel
Gate

arya.

Nut M8
Spring washer ¢8

Flat washer ¢8

R e S S S S — e —

Figuur 15

Elektrische aansluiting

1. De verbinding moet strikt volgens het etiket op de terminal worden gemaakt,

en "vuur" en "nul" mogen niet worden omgedraaid.

2. Houd u aan de veiligheidsvoorschriften en scheid de stroom- en besturingskabels.

3. De motorbehuizing moet geaard zijn.

4. Volgens het onderstaande bedradingsschema is het belangrijk om de stroomleiding te scheiden
van de bedieningslijn, vooral niet om de "switch in place"-bedieningslijn aan te sluiten

de motorleiding en de stroomleiding, anders raakt de controller beschadigd.

5.Schematisch diagram van de samenstelling van het bedieningspaneel en de afstandsbediening

-15 -



Machine Translated by Google

Resistance to adjust«

1. ON: open the soft start/<
1.0FF Off Soft start«

Learn ke Auto closing 2and3«

Ygt{ cazn‘{earn A:20FF/30FF—0S..B:20N.30FF—5S8
remote C:20FF30N—10S. D:20N.30N/--20S+«
controls. 4 OFF/Resistance. ON/Resistance-

Single limit and
double«

1:2. OutputDC15V « AN AN O
direct 30ma«’ 29 y &7 &

o N\

(J

2. 3. infrared. Prevent
the door from hitting
the object«

2.5. open stop In—put AC220V/50HZ<
close cycle« ‘

2.4. only open the door<

open stop close cycle open stop close cycle

Notused Stop
Parameters: Remote control battery model
Frequency:433.92MHZ 2TA 12V
Chip: HCS301 (rolling code) le——Length 28MM .

Materials::ABS+aluminium alloy f ‘

Diameter:7.6mm

Size:5.5"3.05"1.38cm

Koppelinstructies:
1. Afstandsbediening leren: houd de leerknop ingedrukt totdat de leerfunctie is ingeschakeld.

indicatielampje LED brandt, druk 1 seconde op een willekeurige toets van de afstandsbediening, dan

-16 -



Machine Translated by Google

Het coderen is voltooid en de leerindicator knippert.

2. Wachtwoord verwijderen: houd de leerknop 12 seconden ingedrukt om

automatisch alle uitlijningscodes verwijderen en de originele afstandsbediening is ongeldig.

3. De afstandsbediening maakt gebruik van geavanceerde voertuig-rollingcodetechnologie en de

De algemene afstandsbedieningscode aan de buitenkant is niet gemakkelijk te herhalen, effectief
voorkomen dat de deur per ongeluk opengaat. De afstandsbediening heeft intelligente

programmaontwerp. Druk 4 seconden op de afstandsbediening om het programma automatisch te stoppen
lancering, om te voorkomen dat het interfereert met andere afstandsbedieningen. En bewaar

batterijvoeding op afstand. Handig voor transport en opslag.

4. Je kunt meer dan 40 afstandsbedieningen leren.

Gebruik een functie:

1. De controller heeft de automatische geheugenfunctie van power off. Het is mogelijk dat

de debugtest is uitgevoerd door de fabrikant, limietdetectie, dus

De deur moet tijdens de installatie naar het midden worden geduwd.

2. Omdat de controller wordt ingeschakeld nadat de stroom is uitgeschakeld. Voer eerst de
aanzetten. Dit is een normaal verschijnsel.

3. Enkele toetslus: enkele toetslusinterface 1.3.

4. De potentiometer heeft een automatische deursluiting. Draai tegen de klok in om

minimale sluiting automatische deursluiting. De LED knippert één keer en staat voor 1 seconde.
5. Uitgerust met infraroodinterface. En automatische weerstandsretour.

6. Open de deur automatisch wanneer de interface wordt ingeschakeld.

Onderhoud

1. Bestrijk het koppelingsgat met een kleine hoeveelheid roestwerende olie om roest te voorkomen.

2. Controleer regelmatig de staat van de elektrische aarding.

3. Controleer regelmatig of de onderdelen in goede staat zijn.

4. Motor vereist geavanceerd smeervet voor soepele beweging. Doe dit alstublieft

geen normale smeerolie gebruiken.

5.De controller plaatst het kind buiten bereik. Controleer altijd of de

draad is gebroken, los en nat. Als u het vindt, knip dan de hoogspanningskabel eraf

-17 -



Machine Translated by Google

Schakel de stroom onmiddellijk uit en gebruik deze pas nadat u de stekker hebt gerepareerd en vervangen.

Probleemoplossi

ngsmethode

foutverschijnsel Analyse va

h de fout Omgaan met falen

A. De kracht

indicator is uit

Er is geen 110V-voeding Controleer de stroomkabel

1.1. Controleer de uitvoer
De zekering is kapot. De lijn voor kortsluiting.
connector is niet op zijn plaats 2. Vervang dezelfde
specificatie na het

oplossen van problemen

B. Stroomindicator

licht is aan, druk op open

De koppeling is niet gesloten Sluit de koppeling opnieuw

-18 -




Machine Translated by Google

en sluit sleutel, deur
lichaam kan niet zijn

open en uit geschakeld

Schade aan de printplaat door

kortsluiting of ernstige

overbelasting van externe apparaten.

Terug voor reparatie

C. Druk op de "open" knop

knop en "sluiten”
knop, en de deur

lichaam zal stoppen

1. Kortsluitingssensorkabel

circuit of onderbreking.

2.sensor uit de buurt van magneet.

1. Controleer het circuit en
problemen oplossen. Breng de
sensor tot op het punt

magneet.

automatisch of stop

wanneer de limiet is

bereikt

Beperk de schade

Sensor vervangen

D. Druk op de knop
"openen" om groen te

worden, maar druk op de

Kortsluiting van infraroodsonde

lijn

Controleer het circuit en

Problemen met de sonde oplossen

liin

knop "sluiten" om te stoppen en

rug

Infraroodsonde beschadigd

Vervang de infrarood

doorvragen

E. De afstandsbediening

wordt korter

1.Batterij is bijna leeg

1. Vervang de

batterij voor afstandsbediening
23A of 27A 12v.

-19-




Machine Translated by Google

Adres: Shuangchenglu 803nongl1haol1602A-1609shi, baoshanqu, shanghai
200000 CN.

Geimporteerd naar AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australié

EC-REP E-CrossStu GmbH

Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.

VK REP

C/O YH Consulting Limited Kantoor 147, Centurion House,

Londen Road, Staines-upon-Thames, Surrey, TW18 4AX

-20 -



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support

OPERATEUR DE PORTAIL COULISSANT

MODELE : MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

Nous continuons a nous engager a vous fournir des outils a des prix compétitifs.

« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par nous ne représente
qu'une estimation des économies que vous pourriez réaliser en achetant certains outils chez nous par rapport
aux grandes marques et ne couvre pas nécessairement toutes les catégories d'outils que nous proposons.

Nous vous rappelons de bien vouloir vérifier soigneusement lorsque vous passez une commande chez

nous si vous économisez réellement la moitié par rapport aux grandes marques.


https://www.vevor.com/support

Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

MODELE : MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur nos produits ? Vous avez besoin d'assistance technique ?
N'hésitez pas
a nous contacter : Assistance technique et certificat de garantie
électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement toutes les

instructions du manuel avant de I'utiliser. VEVOR se réserve le droit d'interpréter clairement
notre manuel d'utilisation. L'apparence du produit dépend du produit que vous avez

recu. Veuillez nous excuser, nous ne vous informerons plus en cas de mise a jour technologique
ou logicielle de notre produit.



Machine Translated by Google

Cher

utilisateur, merci d'avoir choisi ce produit, veuillez lire le manuel
soigneusement avant de I'assembler et de I'utiliser.

Veuillez ne pas laisser le manuel de c6té si vous envoyez ce produit a un tiers.

faire la féte.

Consignes de sécurité

1. Veuillez vous assurer que la tension d'alimentation utilisée correspond a la

tension d'alimentation de I'ouvre-porte (AC120V ou AC220V) ; les enfants sont
il est interdit de toucher les organes de commande ou la télécommande.

2. La télécommande est contrélée par un seul bouton.

Le voyant lumineux de la télécommande clignote lorsque le

le bouton est enfoncé. Le moteur principal et la porte peuvent étre déverrouillés en
clé de désengagement et la porte peut se déplacer avec le manuel

opération aprés désengagement.

3. Veuillez vous assurer que personne ne se trouve a proximité du moteur principal ou de la porte.
lorsque l'interrupteur est actionné et il est généralement demandé d'examiner

la stabilité de l'installation. Veuillez cesser temporairement d'utiliser si le principal

le moteur a besoin d'étre réparé ou réglé.

4. L'installation et I'entretien des produits doivent étre

réalisée par des professionnels.



Machine Translated by Google

Liste de colisage (base de montage standard / amovible)

1. Liste de colisage

No. Picture Name Quantity
1 _ Main engine 1
A

2 Manual release key 2
Remote control

3 (without battery) 2
(battery model 27A 12V)

4 Sprocket cover 1

5 Chain link 2

6 Chain 6m

7 L Tie rod 2

8 Square screw 4

9 I\\ Round screw 4




Machine Translated by Google

No. Name Quantity
10 Door connecting plate 2
11 Horizontal mounting plate 1
12 Vertical mounting plate 2
13 Expansion screws 4

14 g Magnetic limit switch block 1

f~ Inner hexagon screw
15 M6x16 4

Hexagon screw M6x70 4
16
Hexagon screw M8x35 4

- @@@@ Nut M6 16
@@@@ Nut M8 8

18 gggg Flat washer @8 ' 12
19 EO@EOEDED Spring washer 96 } 16




Machine Translated by Google

2. Liste de colisage (facultatif)

Parametres techniques

Picture

Name

Infrared sensor

—c——

Wireless keypad

r— em—

Quantity

Modele

SL600ACL

Alimentation électrique

220 V/50 Hz ; 110 V/60 Hz

Puissance du moteur

370 W/550 W/750 W/1 200 W

Poids maximum du portail

800 kg/1 200 kg/1 800 kg/2 400 kg

Vitesse de déplacement du portail

12 m/min

Distance de la télécommande

230m

Mode télécommande

Mode bouton unique

Interrupteur de fin de course

Interrupteur de fin de course magnétique

Bruit <58 dB
Obligation de travail $2,15 min
Enregistrement des télécommandes 25
Fréquence 433,92 MHz
Température de fonctionnement -20°C-+70C
Poids du colis 20,5 kg

Principe de fonctionnement :

Il se compose d'un moteur, d'un engrenage a vis sans fin et d'un engrenage entrainé. Le moteur entraine I'engrenage a vis sans fin et

engrenage entrainé. L'engrenage entrainé entraine a son tour la crémaillere. Le moteur transmet son mouvement

I'énergie a la douille par I'intermédiaire de la vis sans fin et de I'engrenage entrainé. Les deux engrenages tourneront

simultanément lorsque I'embrayage est engagé, de sorte que la porte peut s'ouvrir et se fermer avec




Machine Translated by Google

commandes électriques simples. En cas de coupure de courant, débrayer a I'aide de la clé

de débrayage (en la tournant a environ 90°).

Instruction

Veuillez lire attentivement les instructions avant utilisation.

L'ouvre-porte coulissant SL600ACL est adapté aux portails dont le poids est inférieur a 600
kg et dont la longueur doit étre inférieure a 8 m. Le mode d'entrainement adopte la
transmission par pignon et chaine. Cet ouvre-porte doit étre installé a l'intérieur de

I'enceinte ou de la cour pour plus de protection.

1. Dessin d'installation

SRS Ouvre-portail
Clavier sans fil (en option)
Portail

Capteur infrarouge (en option)

Lampe d'alarme (en

A

% . f N
@ %y ®  option) Bloc d'arrét
e ’, "’. z L
7 dim ::'5 de sécurité

A\
A\
\‘

TR

Chaine  Télécommande

Figure 1

2. Taille du moteur principal

Y S
- | | @

i
j




Machine Translated by Google

Base de montage amovible Base de montage monobloc

Figure 2

3Taille du trou encastré

% 0

..O

nft ) ;_@_oqa_ o o

e
|

.
|
G—&-
J A
N
(5] . ot
©
©
°
H—D -

o o
Base de montage amovible Base de montage monobloc
Figure 3

4. Procédures d'installation

4.1Travaux préparatoires avant l'installation

Veuillez vous assurer que le portail coulissant est correctement installé, que le rail du portail est
horizontal et que le portail peut glisser d'avant en arriere en douceur lorsqu'il est déplacé a la main avant

installation de I'ouvre-porte.

Installation de cables

Veuillez enterrer le moteur, le cable d'alimentation et le cable de commande avec un tube en PVC et utiliser
deux tubes en PVC a enterrer (cable moteur et d'alimentation) et (cable de commande) séparément, donc
afin de garantir le fonctionnement normal de I'ouvre-porte et de protéger les cables contre

dégats.

Socle en béton
Veuillez couler un socle en béton d'une taille de 500 mm x 350 mm et d'une profondeur de

200 mm a l'avance afin d'installer fermement I'ouvre-porte SL600ACL. Veuillez vérifier

-7-



Machine Translated by Google

si la distance entre le portail et I'ouvre-porte est appropriée avant de couler le piédestal.

Vis encastrées

Mounting base

ﬁ ﬁ ¥ g Foundation bolt
Concrete I E z

g/ 7 Mounting base

Power line

Figure 4

4.2. Installation du moteur principal

a) Démontez le boitier en plastique du moteur principal avant l'installation et conservez

correctement les fixations

appropriées ; b) Si vous sélectionnez la base de montage amovible, la base doit d'abord étre

assemblée comme indiqué sur la figure 5 :



Machine Translated by Google

Flat washer ¢ 6

6 /"/ ~ Horizontal mounting plate
¥ a Vertical mounting platen
‘| Inner hexagon screw M6x20

Figure 5

c) Assemblez le moteur de la machine sur la base de montage comme indiqué sur la figure 6 ;

Nut M8
Spring washer 8

&/ Flat washer ¢8
Hexagon screw M8 x 35

Mounting base

Figure 6
d) Veuillez préparer la ligne électrique pour connecter la plaque de montage et le moteur principal
(le nombre de conducteurs de cable d'alimentation ne doit pas étre inférieur a 3 piéces, la section du
conducteur de cable ne doit pas étre inférieure a 1,5 mm et la longueur doit étre
déterminée par les utilisateurs en fonction de la situation sur le terrain) en raison d'une installation différente

environnements,



Machine Translated by Google

e) Veuillez déverrouiller le moteur principal avant l'installation, la méthode de déverrouillage est la
suivante : retirez le couvercle de la clé, insérez la clé et ouvrez la barre de déverrouillage manuel jusqu'a
ce qu'elle tourne de 90" comme indiqué sur la figure 7. Tournez ensuite le pignon de sortie et le pignon

peut étre tourné facilement ;

Figure 7

4.3. Installation de la chaine

Fermez le portail ; connectez la tige de liaison a la chaine a travers le maillon de chaine ; fixez la tige de
liaison a la plaque de connexion de la porte a I'aide de rondelles et d'écrous comme indiqué sur

la figure 8. Si nécessaire, I'élasticité de la chaine peut étre ajustée a I'aide de la tige de liaison aux deux
extrémités comme indiqué sur les figures 9 et 10. Si nécessaire, la chaine peut étre raccourcie. Si elle doit

étre allongée, assurez-vous d'utiliser le méme type de chaine.

“./\\
/ ~

# SN\ /
G TN .
N2 ~_ Tie rod
\——, —
! A
% ;
7o SN z
v,';/ '.””‘l v
AHA \
-k
/f)}j//p \\ \\
Ao, \ . -
& \Chain "\ Chain link
Figure 8

-10 -



Machine Translated by Google

Si le cadre de la porte est rond, veuillez utiliser la vis ronde comme indiqué sur la figure 9 :

Flat washer ¢ 8
Spnng washer¢’8\
- NutM8™\

NuLl§. N\
Spring washer 6 .
Flat washer 6 "\

Figure 9

Si le cadre de la porte est carré, veuillez utiliser la vis carrée comme indiqué sur la figure 10

Flat washer¢ 8

Spring washer ¢ 8* \
Nut Ma\ \ Tie rod
Nut M6 \\ F =
Spring washer¢ 6\

Flat washer@B \ )

Gate .~ . Square screw

Figure 10

Installation de la chaine, du petit et du grand pignon comme indiqué sur la figure 11 :

11 -



Machine Translated by Google

Figure 11

Installation du couvercle du pignon comme indiqué sur la figure 12 :

Figure 12

La distance entre le moteur principal et les extrémités de la chaine doit étre d'au moins 30 cm, comme

indiqué sur la figure 13 :

-12 -



Machine Translated by Google

=30CM

OO GCIGOIG GCIOIE

-1

Figure 13

A Avertissements

Pour assurer la sécurité, installez des blocs d'arrét de sécurité aux deux extrémités des rails pour éviter
la porte hors du rail. Avant d'installer le moteur principal, assurez-vous que le
les blocs d'arrét de sécurité sont en place et s'ils ont pour fonction d'empécher
empécher le portail de sortir du rail et de sortir de la zone de sécurité.
Assurez-vous que le moteur principal et ses composants sont en bon état.
propriétés mécaniques, et la porte peut fonctionner de maniére flexible lorsqu'elle est déplacée par
mains avant d'installer le moteur principal.
Dans ce produit, une commande ne peut piloter qu'un seul moteur principal, sinon, le
Le systeme de controle sera endommagé.
Un disjoncteur différentiel doit étre installé la ou le mouvement du portail peut
étre vu, et la hauteur de montage minimale est de 1,5 m pour le protéger des
touché.
Aprés l'installation, veuillez vérifier si les propriétés mécaniques sont bonnes ou
non, si le mouvement du portail aprés le déverrouillage manuel est flexible ou non, et

si le capteur infrarouge (en option) est installé correctement et efficacement.

4.4Réglage de l'interrupteur de fin de course

Utilisez la clé de déverrouillage manuel pour déverrouiller I'ouvre-porte et déplacer manuellement le portail vers

-13-



Machine Translated by Google

la position prédéterminée ; fixez le bloc de l'interrupteur de fin de course magnétique et fermez I'embrayage ; test de
fonctionnement aprés la mise sous tension, ajustez légérement la position du bloc de l'interrupteur de fin de course

magnétique jusqu'a ce que la porte atteigne I'emplacement de limite d'ouverture et de fermeture souhaité.

Installation du bloc interrupteur de fin de course magnétique :

Gate /’ ' |
| /
, [/ ,
[ ]
Magnet | ] [ l

A \+‘\L 1 \ | | "
Magnetic limit switch block! ™. | | || ; | |
2l AR e R SN R SO l ~Ne—h | 1 | Lo| |
, | = i |
Chain !

Figure 14

-14 -



Machine Translated by Google

[

< 20mm

LT ey

Main engine
ﬁ

Magnet

Magnetic limit switch block

Chain

Chain wheel
Gate

—=

arya.

Nut M8
Spring washer ¢8
Flat washer $8

B e e S — — " —

Figure 15

Connexion électrique

1. La connexion doit étre effectuée en stricte conformité avec I'étiquette sur le terminal,

et « feu » et « zéro » ne doivent pas étre inversés.

2. Respectez les régles de sécurité et séparez les lignes électriques et les lignes de commande.

3. Le boitier du moteur doit étre mis a la terre.

4. Selon le schéma de céablage ci-dessous, il est important de séparer la ligne électrique

de la ligne de commande, surtout ne pas connecter la ligne de commande « switch in place » a
la ligne du moteur et la ligne d'alimentation, sinon le contréleur sera endommageé.

5.Schéma de principe de la composition du panneau de commande et de la télécommande

-15-



Machine Translated by Google

Learn ke){
You can learn
up to 20

remote
controls.

Single limit and
double«

1.2. OutputDC15V «
direct 30ma«’

o \

2. 3. infrared. Prevent
the door from hitting
the object«

Resistance to adjust«

1. ON: open the soft start/<

1.0FF Off Soft start«

Auto closing 2and3¢

A:20FF/30FF—0S..B:20N.30FF—5S8
C:20FF30N—10S. D:20N.30N/--20S«
4.OFF/Resistance. ON/Resistance-

”

A A -~

> &0

(J

2.5. open stop
close cycle«

In—put AC220V/50HZ«

2.4. only open the door<

open stop close cycle

Notused

open stop close cycle

Stop

Parameters:
Frequency:433.92MHZ

Chip: HCS301 (rolling code)
Materials::ABS+aluminium alloy

Size:5.5"3.05"1.38cm

Instructions d'appariement :

Remote control battery model
2TA 12V

l¢——Length 28BMM .

o

Diameter:7.6mm

1. Apprentissage de la télécommande : maintenez le bouton d'apprentissage enfoncé jusqu'a ce que l'apprentissage

le voyant LED est allumé, appuyez sur n'importe quelle touche de la télécommande pendant 1 seconde, puis

-16 -



Machine Translated by Google

le codage est terminé et l'indicateur d'apprentissage clignote.

2. Supprimer le mot de passe : appuyez sur le bouton d'apprentissage et maintenez-le enfoncé pendant 12 secondes pour
supprime automatiquement tous les codes d'alignement et la télécommande d'origine est invalide.

3. La télécommande adopte une technologie avancée de code tournant du véhicule et le

le code de télécommande commun a I'extérieur n'est pas facile a répéter, efficacement

empéchant I'ouverture intempestive de la porte. La télécommande est dotée d'une fonction intelligente
conception du programme. Appuyez sur la télécommande pendant 4 secondes pour arréter automatiquement le
lancer, afin d'éviter qu'il n'interfere avec d'autres télécommandes. Et enregistrez

Alimentation par batterie a distance. Pratique pour le transport et le stockage.

4. Vous pouvez apprendre plus de 40 télécommandes.

Utiliser une fonction :

1. Le contréleur dispose d'une fonction de mise hors tension automatique en mémoire. Il est possible que
le test de débogage a été effectué par le fabricant, détection de limite, donc

la porte doit étre poussée vers le milieu lors de l'installation.

2. Parce que le contrdleur est allumé aprés la mise hors tension. Tout d'abord, exécutez la

s'allume. C'est un phénomeéne normal.

3. Boucle a clé unique : interface a boucle a clé unique 1.3.

4. Le potentiométre a une fermeture de porte automatique. Tournez dans le sens inverse des aiguilles d'une montre pour
fermeture automatique de la porte minimum. Le clignotement de la LED représente 1 seconde.

5. Equipé d'une interface infrarouge. Et retour automatique de la résistance.

6. Ouvrez la porte automatiquement lorsque l'interface est activée.

Entretien

1. Enduisez le trou de serrure d'embrayage avec de petites quantités d'huile antirouille pour éviter la rouille.

2. Vérifiez régulierement I'état de la mise a la terre électrique.

3. Effectuez des contrdles réguliers pour vous assurer que les pieces sont en bon état.

4. Le moteur nécessite une graisse lubrifiante avancée pour un mouvement fluide. Veuillez le faire

n'appliquez pas d'huiles lubrifiantes ordinaires.

5. Le contréleur place I'enfant hors de portée. Vérifiez toujours si le

Le fil est cassé, lache et humide. Si vous le trouvez, veuillez couper la haute tension

-17 -



Machine Translated by Google

Mettez-le hors tension immédiatement et utilisez-le apres réparation et remplacement.

Méthode de dépannage

phénoméne de défaut Analyse

du défaut

Pour faire face a I'échec

A. Le pouvoir

l'indicateur est éteint

I n'y a pas d'entrée d'alimentation 110 V.

érifiez la ligne électrique

Le fusible est cassé.

le connecteur n'est pas en place

1.1. Vérifiez la sortie
ligne pour court-circuit.
2. Remplacez la méme
spécification aprés le

dépannage

B. Indicateur d'alimentation

la lumiére est allumée, appuyez sur ouvrir

L'embrayage n'est pas fermé

Refermer I'embrayage

-18 -




Machine Translated by Google

et ferme la clé, la porte Dommages au circuit imprimé dus a De retour pour réparation

le corps ne peut pas étre court-circuit ou grave

ouvert et éteint surcharge de périphériques externes.

C. Appuyez sur le bouton « ouvrir » 1.Cable du capteur de limite en court-circuit 1. Vérifiez le circuit et

bouton et "fermer” circuit ou coupure. résoudre les problemes. Apportez le
bouton et la porte 2. Capteur éloigné de I'aimant. capteur au point

le corps s'arrétera aimant.

automatiquement ou arréter

quand la limite est Limiter les dégats Remplacer le capteur

atteint

D. Appuyez sur le bouton Vérifiez le circuit et
' Court-circuit de la sonde infrarouge

« ouvrir » pour passer au dépanner la sonde

doubler
doubler

vert, mais appuyez sur le

bouton « fermer » pour arréter et Remplacer linfrarouge

dos Sonde infrarouge endommagée
sonde

1.Remplacez le
E. La télécommande

1. La batterie est faible pile de la télécommande
23A ou 27A 12v.

devient plus court

-19-



Machine Translated by Google

Adresse : Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, Shanghai
200 000 CN.

Importé en Australie : SIHAO PTY LTD. 1 ROKEVA STREET EASTWOOD NSW 2122
Australie

E-CrossStu GmbH
REPRESENTANT DE LA CE

Mainzer Landstr.69, 60329 Francfort-sur-le-Main.

YH CONSULTING LIMITEE.
REPRESENTAN] DU ROYAUME-UNI

C/O YH Consulting Limited Bureau 147, Centurion House,

Route de Londres, Staines-upon-Thames, Surrey, TW18 4AX

-20-



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

SCHIEBETORANTRIEB

MODELL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.
+Sparen Sie die Halfte*, ,Halber Preis" oder andere ahnliche Ausdriicke, die wir verwenden, stellen nur eine
Schétzung der Ersparnis dar, die Sie beim Kauf bestimmter Werkzeuge bei uns im Vergleich zu den groRen
Topmarken erzielen kénnen, und decken nicht unbedingt alle von uns angebotenen Werkzeugkategorien ab. Wir
mochten Sie freundlich daran erinnern, bei Ihrer Bestellung bei uns sorgfaltig zu prifen, ob Sie im Vergleich
zu den grofRen Topmarken tatsachlich die Halfte sparen.


https://www.vevor.com/support

Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

MODELL: MD750 / MD550 / MD370 / PY600ACKMJ0000001V2

-1.,"'}5\
LNy
. ,"‘4

Ty

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Haben Sie Fragen zum Produkt? Bendtigen Sie technischen Support? Bitte kontaktieren Sie
uns:

Technischer Support und E-Garantie-Zertifikat www.vevor.com/
support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgfaltig durch, bevor

Sie das Gerat in Betrieb nehmen. VEVOR behaélt sich eine klare Auslegung unserer
Bedienungsanleitung vor. Das Erscheinungsbild des Produkts richtet sich nach dem

Produkt, das Sie erhalten haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut informieren,
wenn es Technologie- oder Software-Updates fiir unser Produkt gibt.



Machine Translated by Google

Sehr geehrter

Benutzer, vielen Dank, dass Sie sich fiir dieses Produkt entschieden haben. Bitte lesen Sie das Handbuch
bevor Sie es zusammenbauen und verwenden.

Bitte lassen Sie die Anleitung nicht beiseite, wenn Sie das Produkt an Dritte weitergeben.

Party.

Sicherheitshinweise

1. Bitte stellen Sie sicher, dass die verwendete Netzspannung mit der

Versorgungsspannung des Tor6ffners (AC120V oder AC220V); Kinder sind
Das Beriihren der Steuergerate oder der Fernbedienung ist verboten.

2. Die Fernbedienung wird Uber einen Ein-Tasten-Modus gesteuert.

Die Kontrollleuchte auf der Fernbedienung blinkt, wenn die

Taste darauf gedriickt wird. Hauptmotor und Tor kdnnen entriegelt werden durch
Entriegelungsschliissel und das Tor kann mit der Hand bewegt werden

Betrieb nach dem Auskuppeln.

3. Bitte stellen Sie sicher, dass sich niemand in der Nahe des Hauptmotors oder des Tors befindet
wenn der Schalter betétigt wird und es wird normalerweise verlangt, zu prifen
die Stabilitat der Installation. Bitte beenden Sie die Nutzung voriibergehend, wenn das Haupt

Motor muss repariert oder reguliert werden.

4. Die Installation und Wartung der Produkte muss

von Fachleuten durchgefiihrt.



Machine Translated by Google

Packliste (Standard-/abnehmbare Montagebasis)

1. Packliste
No. Picture Name Quantity
1 _ Main engine 1
4

2 Manual release key 2
Remote control

3 (without battery) 2
(battery model 27A 12V)

4 Sprocket cover 1

5 Chain link 2

6 Chain 6m

7 L Tie rod 2

8 Square screw 4

9 |\\ Round screw 4




Machine Translated by Google

No. Name Quantity
10 Door connecting plate 2
11 Horizontal mounting plate 1
12 Vertical mounting plate 2
13 Expansion screws 4

14 g Magnetic limit switch block 1

f~ Inner hexagon screw
15 M6x16 4

Hexagon screw M6x70 4
16
Hexagon screw M8x35 4

- @@@@ Nut M6 16
@@@@ Nut M8 8

18 gggg Flat washer @8 ' 12
19 EO@EOEDED Spring washer 96 } 16




Machine Translated by Google

2. Packliste (optional)

Name

Infrared sensor

‘ No. Picture
W
( s (PN \
1 HOREWOE
\&/ \o/
l A \~
! +9))
2 shie/

Technische Parameter

Wireless keypad

S — ——

Quantity

Modell

SL600ACL

Stromversorgung

220 V/50 Hz; 110 V/60 Hz

Motorleistung

370 W/550 W/750 W/1200 W

Maximales Torgewicht

800 kg/1200 kg/1800 kg/2400 kg

Tor-Bewegungsgeschwindigkeit

12 m/min

Reichweite der Fernbedienung

§30 m

Fernbedienungsmodus

Einzeltastenmodus

Endschalter

Magnetischer Endschalter

Larm

y58dB

Arbeitspflicht

Staffel 2,15 Min

Aufzeichnung von Fernbedienungen 25
Frequenz 433,92 MHz
Arbeitstemperatur -20°C-+70C
Paketgewicht 20,5 kg

Funktionsprinzip:

Es besteht aus Motor, Schneckengetriebe und angetriebenem Zahnrad. Der Motor treibt das Schneckengetriebe an und
angetriebenes Zahnrad. Das angetriebene Zahnrad treibt wiederum die Zahnstange an. Der Motor uibertrégt seine Bewegung
Energie Uber Schnecke und angetriebenes Zahnrad in die Steckdose. Beide Zahnrader drehen sich

gleichzeitig bei eingeriickter Kupplung, so dass sich die Tur 6ffnen und schlieRen kann mit

-5-



Machine Translated by Google

einfache elektrische Steuerung. Bei Stromausfall kann die Kupplung mit dem Ausriickschlissel

(Drehung ca. 90°) geldst werden.

Anweisung

Bitte lesen Sie die Anleitung vor der Verwendung

sorgfaltig durch. Der Schiebetordffner SL600ACL ist fiir Tore mit einem Gewicht unter
600 kg geeignet und die Lange des Schiebetors sollte weniger als 8 m betragen. Der
Antriebsmodus verwendet Kettenrad und Kettenantrieb. Dieser Toréffner muss zum

Schutz innerhalb des Gehauses oder Hofs installiert werden.

1. Installationszeichnung

y Toroffner y

Funk-Tastatur (optional) y Tor §
Infrarot-

Sensor (optional) y Alarmlampe
(optional) y
Sicherheitsstoppblock

y Kette y

Fernbedienung

Abbildung 1

2. GroRe des Hauptmotors

ﬁ [ i

i




Machine Translated by Google

Abnehmbarer Montagesockel Einteiliger Montagesockel

Abbildung 2

3. GroRe des eingebetteten Lochs

%5

e
|

.
|
G—&-
J A
N
(5] . ot
o
©
©
°
H—D -

|
|
|
G
|
. 2
b

Abnehmbarer Montagesockel Einteiliger Montagesockel

Abbildung 3

4. Installationsverfahren

4.1. Vorbereitungsarbeiten vor der Installation

Bitte stellen Sie sicher, dass das Schiebetor richtig montiert ist, die Torschiene waagerecht ist
und das Tor beim Bewegen mit der Hand problemlos hin und her gleiten kann, bevor

Toroffner einbauen.

Kabelinstallation

Bitte vergraben Sie das Motor- und Stromkabel sowie das Steuerkabel mit PVC-Rohr und verwenden Sie
Zwei PVC-Rohre, die (Motor- und Stromkabel) und (Steuerkabel) separat vergraben werden, so
um den normalen Betrieb des Tordéffners zu gewéhrleisten und die Kabel vor

Schaden.

Betonsockel
Bitte gieRen Sie einen Betonsockel mit den MaRen 500mm x 350mm und einer Tiefe von

200 mm im Voraus, um den SL600ACL-Tordffner fest zu installieren. Bitte Uberprifen Sie

-7-



Machine Translated by Google

ob der Abstand zwischen Tor und Toroffner passt, bevor der Sockel gegossen wird.

Eingebettete Schrauben

Mounting base

Mounting base

ﬁ ﬁ Foundation bolt
Concrete [ g 1~ ‘

Power line

Abbildung 4

4.2. Installation des Hauptmotors

a) Demontieren Sie vor der Installation das Kunststoffgehduse am Hauptmotor und bewahren Sie die
entsprechenden Befestigungselemente

ordnungsgeman auf. b) Wenn Sie die abnehmbare Montagebasis wéahlen, sollte die Basis zuerst wie in Abbildung

5 gezeigt zusammengebaut werden:



Machine Translated by Google

Flat washer ¢ 6
- /" Spring washer 96 _
- Nut M6
e| .~~~ Horizontal mounting plate
¥ a Vertical mounting platen

L/
| Inner hexagon screw M6x20

Abbildung 5

¢) Montieren Sie den Maschinenmotor an der Montagebasis, wie in Abbildung 6 gezeigt.

Nut M8
Spring washer 8

&/ Flat washer ¢8
Hexagon screw M8 x 35

Mounting base

Abbildung 6
d) Bitte bereiten Sie die Stromleitung fur die Verbindung von Montageplatte und Hauptmotor vor (die Anzahl
der Stromkabeladern darf nicht weniger als 3 Stiick betragen, der Querschnitt der Kabeladern darf nicht weniger
als 1,5 mm betragen und die Lange muss vom Benutzer entsprechend der Situation vor Ort bestimmt
werden), da die Installation unterschiedlich ist.

Umgebungen,



Machine Translated by Google

e) Bitte entriegeln Sie den Hauptmotor vor der Installation. So entriegeln Sie ihn: Nehmen Sie die
Schlusselabdeckung ab, stecken Sie den Schlissel ein und 6ffnen Sie die manuelle Entriegelungsstange, bis sie
sich um 90" dreht, wie in Abbildung 7 gezeigt. Drehen Sie dann das Ausgangskettenrad und das Kettenrad lasst

sich leicht drehen.

Abbildung 7

4.3 § Ketteninstallation

SchlieRen Sie das Tor. Verbinden Sie die Zugstange Uber das Kettenglied mit der Kette. Befestigen Sie die
Zugstange mit Unterlegscheiben und Muttern an der Turanschlussplatte, wie in Abbildung 8 gezeigt.

Bei Bedarf kann die Elastizitat der Kette tUber die Zugstange an beiden Enden angepasst werden, wie in
Abbildung 9 und 10 gezeigt. Bei Bedarf kann die Kette gekiirzt werden. Wenn sie verlangert werden muss,

achten Sie darauf, den gleichen Kettentyp zu verwenden.

7 Q . /
> 7 N

T T Terod

p LN
Ao "\ Chain "\ Chain link

2/ e

Abbildung 8

-10 -



Machine Translated by Google

Wenn der Turrahmen rund ist, verwenden Sie bitte die runde Schraube, wie in Abbildung 9 gezeigt:

Flat washer ¢ 8
Spnng y_/asher 68 \

Nm M8 \ \ Tie rod
Nut M6 \35\ ~
Spring washer ¢ 6 .
Flat washer ¢ 6

Abbildung 9

Wenn der Turrahmen quadratisch ist, verwenden Sie bitte die Vierkantschraube wie in Abbildung 10 gezeigt

Flat washer¢ 8

Spring washer ¢ 8* \
Nut Ma\ \ Tie rod
Nut M6 N\ o
Spring washer¢ 6\

Flat washer 6 \‘

Gate .~ “~._Square screw

Abbildung 10

Einbau von Kette, kleinem und groRem Kettenrad wie in Bild 11 dargestellt:

-11 -



Machine Translated by Google

Abbildung 11

Montage der Kettenradabdeckung wie in Abbildung 12 dargestellt:

Abbildung 12

Der Abstand zwischen Hauptmotor und Kettenenden sollte mindestens 30cm betragen, wie in Abbildung

13 dargestellt:

-12 -



Machine Translated by Google

=30CM

oG = ORI O lo-ojlc-oi{c—c]
' /]
i L //

Abbildung 13

A Warnhinweise

y Um die Sicherheit zu gewahrleisten, installieren Sie Sicherheitsstoppblécke an beiden Enden der Schienen, um zu verhindern
das Tor aus der Schiene. Stellen Sie vor dem Einbau des Hauptmotors sicher, dass der
Sicherheitsstoppblécke vorhanden sind und ob sie die Funktion haben, zu verhindern,
verhindert, dass das Tor aus der Schiene und aus dem Sicherheitsbereich gerét.

y Stellen Sie sicher, dass der Hauptmotor und seine Komponenten in gutem Zustand sind.
mechanische Eigenschaften und das Tor kann flexibel bewegt werden, wenn es von
Hande vor der Installation des Hauptmotors.

y Bei diesem Produkt kann eine Steuerung nur einen Hauptmotor antreiben, sonst
Steuerungssystem wird beschéadigt. y

Fehlerstrom-Schutzschalter missen dort installiert werden, wo die Torbewegung
sichtbar und die Mindestmontagehohe betragt 1,5 m, um zu verhindern, dass das
beruhrt.

y Uberpriifen Sie nach der Installation, ob die mechanischen Eigenschaften gut sind oder
nicht, ob die Torbewegung nach manueller Entriegelung flexibel ist oder nicht, und

ob der Infrarot-Sensor (optional) richtig und wirksam installiert ist.

4.4y Endschaltereinstellung

Mit dem manuellen Entriegelungsschliissel konnen Sie den Toréffner entriegeln und das Tor manuell in

-13-



Machine Translated by Google

die vorgegebene Position; den magnetischen Endschalterblock fixieren und die Kupplung schlieBen; Testlauf
nach dem Einschalten, die Position des magnetischen Endschalterblocks leicht anpassen, bis das Tor die

gewiinschte Offnungs- und SchlieRgrenze erreicht.

Montage Magnetendschalterblock:

| |
L ‘ [

. |
Magnetic limit switch block l ~ | | | \\
e - |
| ‘

Chain

Abbildung 14

-14 -



Machine Translated by Google

[

< 20mm

ey

Main engine
— |
Magnet

Magnetic limit switch block

Chain

Chain wheel
Gate

arya.

Nut M8
Spring washer ¢8
Flat washer $8

B e e S — — " —

Abbildung 15

Elektrischer Anschluss

1.Der Anschluss muss in strikter Ubereinstimmung mit der Kennzeichnung auf der Klemme erfolgen.

und ,Feuer* und ,Null“ duirfen nicht vertauscht werden.

2. Sicherheitsvorschriften beachten und Strom- und Steuerleitungen trennen.

3. Das Motorgehause muss geerdet sein.

4. GeméaR dem Schaltplan unten ist es wichtig, die Stromleitung zu trennen

von der Steuerleitung, insbesondere nicht die Steuerleitung ,Switch in Place* an

Die Motorleitung und die Stromleitung miissen unbedingt beachtet werden, da sonst der Regler beschadigt wird.

5. Schematische Darstellung des Aufbaus der Steuerplatine und der Fernbedienung

-15 -



Machine Translated by Google

Resistance to adjust«

1. ON: open the soft start/<
1.0FF Off Soft start«

Learn ke Auto closing 2and3«

Ygt{ cazn‘{earn A:20FF/30FF—0S..B:20N.30FF—5S8
remote C:20FF30N—10S. D:20N.30N/--20S+«
controls. 4 OFF/Resistance. ON/Resistance-

Single limit and
double«

1:2. OutputDC15V « AN AN O
direct 30ma«’ 29 y &7 &

o N\

(J

2. 3. infrared. Prevent
the door from hitting
the object«

2.5. open stop In—put AC220V/50HZ<
close cycle« ‘

2.4. only open the door<

open stop close cycle open stop close cycle

Notused Stop
Parameters: Remote control battery model
Frequency:433.92MHZ 2TA 12V
Chip: HCS301 (rolling code) le——Length 28MM .

Materials::ABS+aluminium alloy f ‘

Diameter:7.6mm

Size:5.5"3.05"1.38cm

Anleitung zum Koppeln:
1. Fernbedienung anlernen: Lerntaste gedriickt halten bis die Lernfunktion

Kontrollleuchte LED leuchtet, driicken Sie eine beliebige Taste der Fernbedienung fiir 1 Sekunde, dann die

-16 -



Machine Translated by Google

Die Codierung ist abgeschlossen und die Lernanzeige blinkt.

2. Passwort I6schen: Driicken und halten Sie die Lerntaste fir 12 Sekunden, um
automatisch alle Ausrichtungscodes entfernen und die Originalfernbedienung ist ungiiltig.

3.Die Fernbedienung verwendet fortschrittliche Fahrzeug-Rolling-Code-Technologie und die

Gemeinsame fernbedienung code auf der auRenseite ist nicht einfach wiederholt werden, effektiv

verhindert ein versehentliches Offnen der Tir. Die Fernbedienung verfiigt Uber eine intelligente
Programmgestaltung. Driicken Sie die Fernbedienung 4 Sekunden lang, um das Programm automatisch zu stoppen.
Start, um zu verhindern, dass es andere Fernbedienungen stort. Und speichern

Fernstromversorgung Uber Batterie. Praktisch fur Transport und Lagerung.

4. Sie kbnnen mehr als 40 Fernbedienungen lernen.

Verwenden Sie eine Funktion:

1.Der Controller verflgt Uber eine automatische Speicherfunktion fir das Ausschalten. Es ist moglich, dass
die fehlersuche test durchgefuhrt wurde durch die hersteller, Grenze erkennung, so

die Tur muss beim Einbau zur Mitte geschoben werden.

2. Da der Controller erst nach dem Ausschalten eingeschaltet wird, fihren Sie zunachst den

einschalten. Das ist normal.

3. Einzelschlisselschleife: Einzelschliisselschleifenschnittstelle 1.3.

4. Das Potentiometer hat eine automatische Tirschlieung. Drehen Sie gegen den Uhrzeigersinn, um
MindestschlieRzeit: Automatisches SchlieBen der Tir. Das einmalige Blinken der LED entspricht 1 Sekunde.
5. Ausgestattet mit Infrarotschnittstelle. Und automatischer Widerstandsruckfuhrung.

6. Automatisches Offnen der Tur bei eingeschalteter Schnittstelle.

Wartung

1. Tragen Sie eine kleine Menge Rostschutzdl auf das Kupplungsschlisselloch auf, um Rost vorzubeugen.

2. Uberpriifen Sie regelméRig den Zustand der elektrischen Erdung.

3. Fuhren Sie regelméRige Kontrollen durch, um sicherzustellen, dass die Teile in gutem Zustand sind.

4. Der Motor bendétigt fur eine reibungslose Bewegung ein fortschrittliches Schmierfett. Bitte

keine normalen Schmierdle verwenden.

5.Der Controller platziert das Kind auRerhalb der Reichweite. Uberpriifen Sie immer, ob die

Draht ist gebrochen, lose und nass. Wenn Sie es finden, schalten Sie bitte die Hochspannung

-17 -



Machine Translated by Google

Schalten Sie es sofort aus und verwenden Sie es nach der Reparatur und dem Austausch.

Methode zur Fehlerbehebung

Fehlerphanomen Analyse des Fehlers Mit dem Scheitern umgehen

Es gibt keinen 110-V-Stromeingang. Uberpriifen Sie die Stromleitung.

A. Die Macht 1.1. Uberpriifen Sie die Ausgabe

L Die Sicherung ist kaputt. Leitung auf Kurzschluss.
Anzeige ist aus

Stecker ist nicht vorhanden 2. Ersetzen Sie die gleiche
Spezifikation nach der

Fehlerbehebung

B. Betriebsanzeige Die Kupplung ist nicht geschlossen Kupplung wieder schlieRen

Licht ist an, driicken Sie auf ,Offnen”.

-18 -



Machine Translated by Google

und Schliissel schlieRen, Tir
Kérper kann nicht

auf- und abgeschaltet

Platinenschaden durch

Kurzschluss oder schwere

Uberlastung externer Geréte.

Zurlick zur Reparatur

C. Driicken Sie die Taste ,Offnen“
Schaltflache und "SchlieRen”
Knopf und die Tur

Korper wird aufhéren

automatisch oder stoppen

wenn die Grenze

erreicht

1.Grenzwertsensorkabel kurz

Kurzschluss oder Unterbrechung.

2. Sensor vom Magneten entfernt.

1. Uberpriifen Sie den Schaltkreis und
Fehlerbehebung. Bringen Sie die
Sensor auf den Punkt

Magnet.

Begrenzen Sie den Schaden

Sensor ersetzen

D. Driicken Sie die Taste ,Offnen®,
damit die Anzeige griin wird, driicken
Sie jedoch die Taste ,Schlieen®,

um den Vorgang zu stoppen und

zurlick

Kurzschluss der Infrarotsonde

Linie

Uberpriifen Sie den Schaltkreis und

Fehlerbehebung bei der Sonde

Linie

Infrarotsonde beschadigt

Ersetzen Sie das Infrarot

Sonde

E. Die Fernbedienung

wird kirzer

1.Batterie ist schwach

1.Ersetzen Sie die

Fernbedienungsbatterie

23 Aoder27 A12 V.

-19-




Machine Translated by Google

Adresse: Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Shanghai
200000 CN.

Nach AUS importiert: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australien

E-CrossStu GmbH
Vertretpr der EG

Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
UK REP

C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

-20-



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support


https://www.vevor.com/support

